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14 JIEt2 43 150,000 300,000 A150,000
OgAH L&Z0 NEAMHIA =2 K&
150,000,000 14 150,000
402 BIZHR=0l A 250,000 442,000 A192,000
01 QIZEXHE2 AR 2 2 (KM THE ) 250,000 442,000 A192,000
OAMZ0l HEEH HEAS
250,000, 0002 *100% 250,000
CRASH AR Ed3 X 53,100 75,2%6 A22,196
& 26,550
Al 26,550
307 gI2Hol 53,100 75,29 A22,1%
& 26,550
Al 26,550
02 QIZHBAAIH E X 53,100 75,2%6 AN22,196
OtAZH Al Eedz K&
53, 100,000 *100% 53,100
& 26,550
Al 26,550
HEANE 3YH 235t 2,932,808 2,977,434 A44,626
= 1,061,063
Al 1,871,745
HSAZE E4dst K3 81,390 70,710 10,680
201 et | 45,390 48,710 23,320
01 AtR2telt] 45,390 48,710 A3,320
O&EANE EE2= MH
5,000,000& * 14! 5,000
ONSANE EE 30,000,000 14 30,000
OHEAE ALEUE HEE Y
250,000 *33| *5IH & 3,750
ONEANE =XE RIE=E &EH 9
3,000,000 14 3,000




D ZHEE=
M NSFH 8FJ1e =

&Pl dSAE B3HH 25 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

ORSTaMUMHE S| It
70,0002 7 H+43] 1,960
O==g4FIIRIEs ot
70,0002 6 H*43] 1,680
301 LB NZ 6,000 6,000
11 HALAHIXIEZ 6,000 6,000
ONSAIE &t&s] IR 0]
200,000& x 15 *23] 6,000
307 QI2Hol A 30,000 16,000 14,000
02 QIR LA E X 30,000 16,000 14,000
OESAIE IS UHSXIA
5,000, 0002 *6IH 2 *100% 30,000
HEAE AILSUHE XA (HEAD) 1,344,600 1,355,063 A 10,463
& 806,760
Al 537,840
401 AlEHIZ 20| 1,344,600 1,355,063 A 10,463
T 806,760
Al 537,840
01 Al&HI 1,344,600 1,333,063 11,537
SAANE ST SHIHL
120,000,000 14! 120,000
& 72,000
Al 48,000
OdgAME SZaE4 SN & =20t
AOIE =M 251,000,000 14 251,000
= 150,600
Al 100,400
OFZLSLAE =B IAIL E
490,000,000& 14 490,000
& 294,000
Al 196,000
OF2LSEANE DHEIIAE =4
384,600,000 14! 384,600
& 230,760
Al 153,840
OF2AIHEZISAIE HOISARA & &0l
w2 SFIHH 9,000,000 14 99,000
& 59,400
Al 39,600
HEAE 2= K& 29,432 22,028 7,404
= 14,716
Al 14,716
307 2Iz2+0l™ 29,432 22,028 7,404
T 14,716
Al 14,716




a=: dHed= A IRl
33 XNAEHM 83018 15
el MSAY 28" Z3t (Gt H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
02 QIZHEMAIH X 29,432 22,028 7,404
OHSAE LS It
14,520,000 x60% 8,712
& 4,3%
Al 4,3%
ONUSAY LS SHAE X2 (A
&) 25,900, 0002 80% 20,720
& 10,360
Al 10,360
SH 528 2435 23 20,000 20,000
201 Ler2aY| 20,000 20,000
03 HALZSHI 20,000 20,000
OSH 52Z A 20,000,000 14} 20,000
=20 52 243 29 40,000 40,000
307 2Iztol& 40,000 40,000
02 QI B AL E R 40,000 40,000
OF=225ey 243t 29
40,000, 0002 *100% 40,000
2stel oE 29 220,000 200,000 20,000
201 £er2aY| 100,000 80,000 20,000
01 Ak 2teltl 50,000 50,000 0
OZ3toiel O THal8D| M 89
50,000,000 * 14| 50,000
03 HAr= S I 50,000 30,000 20,000
OZ3tel OFAIE A 29
50,000,000 14} 50,000
307 2Izto| A 100,000 100,000
02 QIZHEMAIH S X 100,000 100,000
Ogsatiel og 29
100,000, 0002 *100% 100,000
401 AlZHIL 2 0HY] 20,000 20,000
01 Al 20,000 20,000
OZzatHel OrAIE JIgtAlE B
20,000,000 14} 20,000
HSANE St 253 4,800 4,800 0
202 04t 4,800 4,800
01 20 4,800 4,800
OAIE 243t Ar2l AIFXI0]
20,0002 *3% *803] 4,800
HSAE A= 22l X& 9,200 107,839 A11,639
201 £eH2aY| 56,200 57,839 A1,639
01 At 2teltl 5,000 5,000 0
Os=tda 28 225 7Y
5,000,000 14| 5,000




; ZHEZE=
D XN HEIE S

;F?_—i: HSAE ¥ L3t (Gt H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
R s==3tl 51,200 52,839 A1,639
o™=z 600,000« 122 7,200
OdoteEg 39,000,000 14} 39,000
OANd= RAE+ & 245 #=52
5,000,000+ 14| 5,000
401 AlZHIL 2] 40,000 50,000 10,000
01 Al 40,000 50,000 10,000
OHSAY HEF AL 25
40,000,000 14| 40,000
HSAE XZ0l ARA 798,624 780,480 18,144
< 239,587
Al 559,037
307 2Iztol& 798,624 780,480 18,144
= 239,587
Al 559,037
02 QZHEMAIH S X 798,624 780,480 18,144
O&ESAIE XI&0l XIZAL
798,624,000 «100% 798,624
< 239,587
Al 559,037
HSAY QHEANL [REZY 157,762 156,514 1,248
101 21| 121,842 120,594 1,248
M IRINZZ2NSE+ 121,842 120,504 1,248
O8N, 55884 2323 22y 121,842
=Jlga 96,8002 x3H*230& 66,792
oFFHY 96,8002 *3% *46 13,359
oAZtel2Rd
18, 1502 #3Z #2A[ 2H52 +465= 25,047
o AR 96,8002 +3Z* 11 3,1%
oll=dl 200,000 *3% x23] 1,200
SAUEE MHFREE
108,393,000 %11. 3% 12,249
201 Ler2aY| 25,920 25,920
01 At 2teltl 16,320 16,320
o223 F¢ 400,0002 * 12 4,800
OFX2AMEH RALs(2HH) 89
660,000 « 122 7,920
O8Il 72+ 300,000« 122 3,600
2 =23l 9,600 9,600 0
Oy 22 MAMs=
800,000« 12& 9,600
401 AlZHIL 2 CHY] 10,000 10,000
01 AlZHI 10,000 10,000




; ZHEZE=
D XN HEIE S

;F?_—i: HSAE ¥ L3t (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e

OLAZAIEERXES
10,000,000 14! 10,000
HEAIE FLOIAIE A (EXEXIH) 140,000 140,000
308 AXIHMSOIA 140,000 140,000
13 BI |2 SOICHEH B A X LE AL 140,000 140,000
OHSAIE FLOAE MS(EEEHXIH)
140,000,000 * 14 140,000
AMNSIZZH 43 =& 166,718 801,219 A634,501
MIEIHOIY SEXA 116,718 117,885 21,167
101 eI24t| 28,878 28,545 333
M IIHZ2E2NSEs 28,878 28,545 333
OMIIEHBMAALEH Mgl o124H| 28,878
=JllEgg 90,4003 * 1 *230 20,79
oxFgg 90,4002 *1H 46 4,159
oAHXt+E 90,4003+ 111 9%
CAUEE ME=RYE=E
25,944,800&*11.3% 2,932
201 L2 | 12,540 12,540
01 Ar2eltl 12,540 12,540
OAlZI BB NS E2I3s sloEdeg
70,0002 +11H+23] 1,540
OARIHZMOIY 2t&al &0t
3,000,000 14! 3,000
OMIIEZMDIY E2XZ ME
8,000,000 14! 8,000
202 Ot 4,800 4,800
01 =04l 4,800 4,800
OAM2AHEM HRF=8 0]
20,0002 *3H+80=] 4,800
307 2I2+0l™ 10,500 12,000 21,500
04 CIZHHALAIRIE & 10,500 12,000 21,500
OAMIEAH SOt At
10,500, 0002 *100% 10,500
308 KXIHMSOIH 60,000 60,000
13 I 2SO E & A2 AL I 60,000 60,000
OMAEZHIIY EEMATRES & EHZ2IHH
A& 50,000,000& * 14! 50,000
OASIZZRIIY HIEKA(MOILE, ZES)
10,000,000& *14! 10,000
MBI HZH AAe K& 50,000 50,000
308 KXISHMSOIH 50,000 50,000
13 I 2SO E &R S AL 50,000 50,000
OAt2| B BN Sdgtdst K&
50,000,000 14! 50,000
Y 2HAH(AHAZ0I) 23,420 20,640 2,780




=34l (St ®2)
A2 2N - FB - O9(E) - HIRAY - BES A SimE==t
JlE2al 23,420 20,640 2,780
J|1E23&| 23,420 20,640 2,780
201 2| 16,020 15,240 780
01 Ar22eltl 16,020 15,240 780
Oget=2H| 9,000
cHHAIRES 2|
500,000& =123 6,000
oFMAMADE F2H|
250,000& =123 3,000
O=4| 9,000 x13Z x5« 12& 7,020
202 Ot 2,400 2,400
01 =WHO4b| 2,400 2,400
OJ =g 0ol
50,000 *4H*123] 2,400
203 AR F=&lh| 3,000 3,000
M 2GRS 3,000 3,000
ORN2ZIHR2FA 250,000& =123 3,000
405 Rt SHI 2,000 2,000
01 ML =ZFSHI 2,000 2,000
OLEs 7Y 2,000,000 *1CH 2,000




Al

Ol &F A

Al A

A= JHEE= A JIEXE L
M ZSA0|Y ZGXA
ol SAJ1Y S (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e
IS K2 1t 23,510,089 27,882,723 A4,372,634
= 4,000,000
s 4,627,000
CH 860,000
T 3,094,760
Al 10,928,329
S2J1Y 3G 482,360 384,818 97,542
CH 60,000
& 24,000
Al 398,360
SaJ| 3EXA 482,360 384,818 97,542
CH 60,000
T 24,000
Al 398,360
2018 H2XIRA 68,000 68,000 0
201 2Et2 & 8,000 8,000
01 ArR22eltl 8,000 8,000
OS2I XAt EE2 HE
2,500,000 14 2,500
OQuZ XA 2 257
2,500,000 *14] 2,500
OJIGXE Al gts 43|
3,000,000 14! 3,000
308 REXISHMSOIH 60,000 60,000
13 I 2 S0IeHE &R AL 60,000 60,000
OHUAZS(AES)2E X
60,000,000 14! 60,000
ZEA0|Y AEE EE DIHE KA (EHEXH) 50,000 48,000 2,000
308 AHXIHMSO0I& 50,000 48,000 2,000
13 BI 12 SOICHEHE A X LAE AL 50,000 48,000 2,000
O=AJ1d ¥5d EE O0HAHE RFAS
50,000,000& *14! 50,000
KATHA HEZ XIRALS 80,000 44,458 35,542
& 24,000
Al 56,000
307 QI2Hol A 80,000 44,458 35,542
& 24,000
Al 56,000
02 QIRHEAAIHE X 80,000 44,458 35,542
OXAMe HEBE XA
80,000, 000& *100% 80,000
& 24,000
Al 56,000
S| ME CIXCIOHE XI&AS 48,000 48,000 0




FENEEE
L EA|Y YN

M IR

‘;9;2 %.’.\_JIS QQM% EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

307 QI2HOl A 48,000 48,000
02 QIRHHAAIHE B X 48,000 48,000
OS==HMZ CIXHe X
10,000, 0002 *8IH 2 +60% 48,000
Ul SHES(XAIE) &It XA 30,000 30,000 0
307 gI2tol ™ 30,000 30,000
04 QIZHHAIAIE E X 30,000 30,000
O=3U2l &&3l(HAIE) &It XY
2,222,200 * 1571 2= +90% 30,000
SaIY ==23HY Le NJAL 80,000 100,000 220,000
308 REXISHMSOIH 80,000 100,000 220,000
13 I 2 SOIeHE &R S AL 80,000 100,000 220,000
Oy =238 L35t N
80,000,000 14! 80,000
JISXAAY 23 3| 6,360 6,360
202 o4t 5,000 5,000
01 =04 LI 5,000 5,000
OIS E ALY F&H|
50,000 x4 H 25 5,000
203 LR=&H| 1,360 1,360
03 A Z=AIHSZXY| 1,360 1,360
OJISXE ANMAR F&
1,360,000& 14! 1,360
22Y P AEDIY SH(IVEAFEXH) 60,000 40,000 20,000
308 RXIHMSOIH 60,000 40,000 20,000
13 SI1 2SO & X2 AL I 60,000 40,000 20,000
O==28 IP AEDIY 4
60,000,000 14| 60,000
S SdES Ss8XNEAE 60,000 0 60,000
CH 60,000
307 gI2Hol 60,000 0 60,000
CH 60,000
08 OIXIEXNS 60,000 0 60,000
SAI|Y SdIES SSAEAL
60,000,000 14! 60,000
CH 60,000
UNE: P gee PR 14,681,569 14,674,726 6,843
= 4,000,000
CH 800,000
= 2,451,760
Al 7,429,809
JIg =X 37,360 9,869,860 A\9,832,500
IE=rI&s 32,360 32,360 0
201 2| 32,360 32,360 0




Hm: x|ojal

2 A A2 2M ¢ JIgXJ
- oix

=
=)

Sl lgRI EER-E)
AR 2N - B S2(3H) - NRAY - BES ofl vy A ClImE=T]
01 AR 2telt| 32,360 32,360 0
OYprsgH| 19,000
CRIDIY FYIG T2 0|8
3,000,00024+14! 3,000
SR 2123 HIE
4,000,000 %25 8,000
CIIRK 2222 1
2,500,00024+25] 5,000
CWBAACIT| A=K EXIE BH|
3,000,00024%14! 3,000
o994y 3,360
SIIARXRARS B0+
70,0002 1224 +45] 3,360
OJRi EPES 10,000
ostats| &t 5,000, 0002 %25 10,000
JILRIIAY 2HA| 5,000 5,000 0
202 Oit| 5,000 5,000
01 2ot 5,000 5,000
OJILRXES X0
50,0002 %224 502! 5,000
AR S AL 1,108,000 1,056,300 51,700
LS USRI ES SAX| 1,100,000 1,050,000 50,000
306 242 1,100,000 1,050,000 50,000
01 E012 1,100,000 1,050,000 50,000
OLEYSAATES 2H| X
800,000,00024 14! 800,000
OLSUSIAATES AlLBHH| XY
300,000,000 141 300,000
AT H A A 8,000 6,300 1,700
201 YBr2 A Y| 2,000 1,500 500
01 AR 2telt| 2,000 1,500 500
OFAY ARZEZ 2,000,00024+14! 2,000
202 04| 6,000 4,800 1,200
NETETI 6,000 4,800 1,200
OFSAASHAY FX0H|
50,0002 x3 *40 6,000
NEEENTIEYE 2,088,709 3,157,066 A 1,068,357
CH 800,000
= 291,760
Al 996,949
HUME R MIAT HAXEH ATAY X2 (2 20,000 20,000 0
DIESESDNE)
307 QI1240|& 20,000 20,000
02 QIRIHAAIHBE 20,000 20,000




= dNEd= AN
CERPIEINEE
ol NESshtg =54 EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
OoffAME S HALT HAXIZH H7
A X2 (BSAFH)
20,000,000 *17H 2+ 100% 20,000

AR [ U dZet Il APAY X (= 20,000 20,000 0

IIEHAIR)

307 @120l & 20,000 20,000
02 QItEHAEE X 20,000 20,000
O&Hl Fela ts et Sdles A+

A R (ZE2FU)
20,000, 0002 *1JH 2=+ 100% 20,000
S HIRY XY SHE 25 85,000 700,000 £615,000

308 XtXIEMSO0IE 85,000 480,000 A395,000
13 SIS0t 34 A AS A 85,000 480,000 395,000
OZE NI ZHE NSEE(34)

85,000,000& » 14 85,000

_.:!_)Al]ﬂv’—‘rEI;E4 AT M SRS PSAL(RIAE 1,018,534 2,377,066 21,358,532

_O‘:]

< 291,760
Al 726,774

308 AtXIEMSOIE 545,820 127,066 418,74
== 196,100
Al 349,720

13 SV I2S0He 4 A AS A 545,820 127,066 418,754

OIAMKEIZ AT &Pt EHE ASA

(24 545,820,000 x14] 545,820
= 196,100
Al 349,720

403 MR HMSAH201H 472,714 2,250,000 N1,777,286
= 95,660
Al 377,054

02 SVI2S0 U H=E S AL 472,714 2,250,000 N1,777,286

OZAMKEIZ AT &UZ SHS A=A
2 (2) 472,714,000 x14] 472,714
[ 95,660
Al 377,054
22 AN 22 HAURMARSET 28 XI&( 145,175 0 145,175
201 I )

308 AXIMSOIA 145,175 145,175
18 SIS0t HAS A 145,175 145,175
OZZAIEAIN0 =28 SHAUARNMARS

=3 X& 145,175,000 *14] 145,175

Olc E& AMEFS JISII8E 25 800,000 0 800,000
CH 800,000

308 AXIHSOIA 100,000 0 100,000
CH 100,000




A JIEXE

HSsH (£ & E)
LA B - S9(E) - AISAY - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 100,000 0 100,000
OO0lehE e 2 030I8 R=(ZY)
100,000,000 *14] 100,000
CH 100,000
403 XHXI A=20l& 700,000 0 700,000
CH 700,000
02 ST 2SSt =2 A A A I 700,000 0 700,000
ODIcHEE ATHES ItSBI18E 2= (X+=)
700,000,000& *14] 700,000
CH 700,000
FE20|=8A(IT 241,500 587,500 346,000
AT CXE SHAXJ (2R EXR) 31,500 31,500 0
308 AbXIC 4 31,500 31,500 0
07 REXIEHX = 31,500 31,500 0
OXNE=E UXE SaXIE At
31,500,000 * 14| 31,500
2E 1EXRD|Y XgdH 2SN (BIHEEXH) 60,000 60,000 0
308 AHXIEMSOIH 60,000 60,000
18 SIS0t oA AS A 60,000 60,000
OYES 195X NBHE 2YTIA(AS
WSHAHREH) 60,000,000 * 14 60,000
XS 1Q! DICIodY 22 (WE) 100,000 336,000 236,000
308 AtXIEMSOIE 100,000 236,000 136,000
183 SIS U B 4 HASAIE 100,000 236,000 136,000
OXI% 121 DICIOMIE 2
100,000,000 * 14! 100,000
wogwmom 75 2gAY(F2Y) NA(IIEFY 50,000 100,000 50,000
L
307 elztol & 50,000 100,000 250,000
R QIABAALRE 50,000 100,000 A50,000
OBIOIHAHOIA PESBAI (H2E)(Y
ATEH) 50,000, 0002 *17H 2+ 100% 50,000
MEEFNE FSEAE 11,206,000 4,000 11,202,000
= 4,000,000
= 2,160,000
Al 5,046,000
gIuEs all 6,000 4,000 2,000
202 048l 6,000 4,000 2,000
01 =LHOd 6,000 4,000 2,000
odlgEL At =& 0|
50,0003 »2&H »60L 6,000
HEAM HFI| HE3S lEXFAY 10,200,000 0 10,200,000
= 4,000,000
=S 1,860,000




CdNedE= AN
AMHTE
SEEME FEME (SH9 H2)
LA B - S9(E) - AISAY - BES of v e HIDE2
Al 4,340,000
403 MR HMSAHE01H 10,200,000 0 10,200,000
= 4,000,000
= 1,860,000
Al 4,340,000
02 SIS0t =2 2 P E A I 10,200,000 0 10,200,000
ORISAT ®E)| EEs N 512 L Al
2384l 2= 10,200, 000,000 * 14 10,200,000
= 4,000,000
= 1,860,000
Al 4,340,000
HEAM S1E2E AIEAE 1,000,000 0 1,000,000
= 300,000
Al 700,000
308 AHAIEHMSOIE 1,000,000 0 1,000,000
== 300,000
Al 700,000
13 SI12S0He & A AS A 1,000,000 0 1,000,000
OFASHFI| EESGE AIE24H
1,000,000,000& * 14} 1,000,000
= 300,000
Al 700,000
NG aH JN=XI& 535,000 965,000 430,000
UN=:Faigea BRCIDN =g 535,000 965,000 A430,000
HOISEE SSAUMAE NRAL(2HEFRIY) 20,000 20,000 0
307 212+01& 20,000 20,000 0
02 LB HANHEE 20,000 20,000 0
OZosEd ey XA (LSS
=) 20,000,000 *19H 2+ 100% 20,000
SN HEESHEH 2S(S2HEXY) 110,000 110,000
307 el2tol & 110,000 110,000
02 2B YAIAE £ 110,000 110,000
OS2JIIgNE FEESHEH 24 110,000
oJtEs2si
20,000, 0002 *1JH 2=+ 100% 20,000
oUEJFH, ZRTEU, LEUEAAL
=2 25,000,000 *37H 2= 100% 75,000
oRIST ZE &)= A
15,000, 0002 *17H 2+ 100% 15,000
CIHIESEIIX AFY X (20HAEXIR) 100,000 100,000 0
307 @12t01 & 100,000 100,000
02 QB AANEER 100,000 100,000
OOlHIZHTIIX At X
100,000, 0002 #1742+ 100% 100,000




A= JHEE= A 1 JIG XA
M XFae J|l=XI
Rl XFary oI=sd EER=E)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
IS AFY X2(2HEEXH) 100,000 100,000
307 212+01 A 100,000 100,000
02 QIZtAAAIEER 100,000 100,000
OZIIESWIIX ALY XI&A
100,000,000 *1JH 2 *100% 100,000
OO OIS 2EWT AY XJA(2IEFXIH) 50,000 50,000
307 gI2Hol ™ 50,000 50,000
02 QIZHA A AL E X 50,000 50,000
OBESIY QL SEBT AR XIB (2
S|=) 50,000,000 * 108 2~*100% 50,000
ADIESRE MEZolg 24 AtY X 100,000 100,000 0
308 AHXIHM SO & 100,000 100,000
09 XIGCHSH0l CHEr BAER 100,000 100,000
OADIESIR H20I2 9 A XB(OIS
S2S) 100,000,000 *1JH 2 *100% 100,000
Sstag FPERUEH 4 NAAMS(SHEERIE) 55,000 0 55,000
307 gI2Hol ™ 55,000 55,000
02 QIZHAAAIHE X 55,000 55,000
OSsi2 HUBSUE S4 NAY(Y
S=) 55,000,000 * 171 2~ *100% 55,000
MY - SSHA 2el2Y 1,978,800 2,114,459 A135,659
& 34,000
Al 1,944,800
A - SSHX 2tel 130,000 180,000 250,000
& SSER QR SALS 100,000 150,000 A50,000
401 Al&HIZ20HY| 100,000 150,000 50,000
01 AlEHI 100,000 150,000 50,000
Odtd - sSEHRX |XI2e|
100,000,000 14 100,000
LCSACE AW 2ASIALY 30,000 30,000 0
401 A& HIZL20HH] 30,000 30,000
01 Al&HI 30,000 30,000
OLSAC FWS LAY
30,000,000 14! 30,000
T2 s3EX 22 1,848,800 1,934,459 A\85,659
= 34,000
Al 1,814,800
=28 s3HX 2de =& 880,000 880,000
307 gI2tol ™ 880,000 880,000
05 QIZtRIErZ 880,000 880,000
Os3HAE2s 2gH| XI&
2,500,000& =123 30,000
OZ23H=XelAld 2Zd| K&
850,000,000& 14 850,000




= dNEd= AN
3 MY - sSHX 222
ol =R s3HA 2l EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
=28 s3HA &l 2SI 900,800 974,459 AT3,659
201 Zet=d] 154,800 152,000 2,800
01 AlR2teldl 1,800 1,800 0
OSSH=XMIAIECTVE Rt =
150,000& 122 1,800
02 33234l 153,000 150,200 2,800
Os3HX 29 |2y
45,000,0003 %14 45,000
ON2sEHA SSHXelAE dI2=
9,000,000& 122 108,000
401 AIEHIZL 20| 746,000 822,459 AT76,459
01 Al&ZHI 746,000 822,459 AT76,459
OSS3H+HM2IAE =SAIES nHAE
500,000,000+ 14| 500,000
OZ3H=XIAIE |X2eld]
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01 M=l 500 13,700 213,200
O+REZTY| A% 7L
10,0002 504 500
it Ald AE2e] 5,832 7,800 21,968
& 2,916
Al 2,916
307 QI2tol ™ 5,832 7,800 21,968
& 2,916
Al 2,916
02 QIZtBAAIHE X 5,832 7,800 21,968
Oofelst=xelAld fIE2el XJA
9,720,000 *60% 5,832
T 2,916
Al 2,916
HIEQRE HZAIE w22 9,600 0 9,600
201 ZEH2 & 9,600 9,600
01 Ar22eltl 9,600 9,600
OHIE22E MZAE 7RE=
2,400,000 *43] 9,600
Xota=2tel 7,339 7,339 0
= 1,071
Al 6,268
Kot & 2te| 6,000 6,000 0
201 23| 6,000 6,000
01 AtR2eltl 6,000 6,000
OXIot H==EI|, B M==2
3,000,000 14 3,000
OXlot=2te| E2 2 M
3,000&*1,000= 3,000
Kot =2IA =2 X3 AtS 1,339 1,339 0
= 1,071
Al 268




A= JHEE= 24 23
M B
s Xlot=2tel EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
307 QI2HOl A 1,339 1,339 0
& 1,071
Al 268
02 QIRHHAAIHE X 1,339 1,339 0
OXIote =E2BA =2 X& ALY
2,677,000 *50% 1,339
= 1,071
Al 268
olst2ed 9,561,121 18,492,001 A\8,930,880
= 5,025,898
s 68,000
| 87,400
= 1,242,490
Al 3,137,333
CHO12HZoH & 9,561,121 18,492,001 28,930,880
= 5,025,898
s 68,000
| 87,400
& 1,242,490
Al 3,137,333
ILEd 2el 109, 152 91,280 17,872
101 eI t| 11,312 9,520 1,792
M IIZtH22SE 11,312 9,520 1,792
OSZ2IZAl 212 11,312
=Jll2a 96,800 x2H 50 9,680
oFgsg 96,8003 x2H 73| 1,356
cIEMUEE 2EHZ
11,036,000& *2. 5% 276
201 L2 | 97,840 81,760 16,080
01 Ar22eltl 83,120 67,040 16,080
Oget=2H| 83,120
oL SARX ZIIHIXE NIJAAY JHZAE
RS === 15,300& *2,000CH 30,600
CEHAAZZ)| FEHAM =2
500,000 *4CH 2,000
cEHHNY EE2= M
500&*10,0000H 5,000
ScHIIHIES A LQLETTAL =5
400,000 * 1004 2~ 4,000
CEASHIR USAUAX =2
1,200,000& = 1CH* 123 14,400
oXlgdtsxt S8 A FX2Y BLIA
el AHsAIAE 2e| =2
385,000 12 4,620




o= ZHEE=
I [H)|BAEA

2AM - BEu

‘3%;2 EHJI%??JHE (SH9 H2)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS2
oA AIHE UXAE &X XJAY
=ElzE =58 500,000 *45H 2 22,500
02 S3=gHl 14,720 14,720 0
OB SAt 88 & FA7Y 222
Mel AsSAAE DM =8 X REE
2,600& 100~ 122 3,120
O222= £ HAl 2,000
=0IMZX 3222
2,000,000 14! 2,000
OAIEZHIFXIbI 9,600
CEARHEEHI| IS
2,000,000 *1CH 2,000
oAs X NSt SHEXE FH|
2,000,000 14! 2,000
oDIMIEX Al FXl2eld]
2,000,000 14! 2,000
oEFZA XHYX RF4
300,000 «1CH+12& 3,600
SHEFEHAS =AY JSIA SH0H 11,000 6,000 5,000
307 2Itold 11,000 6,000 5,000
05 2ItRIE = 11,000 6,000 5,000
Ostddae Adzdd
137,500 »80 11,000
HIINST ESML(SE) 1,845,000 3,749,600 A 1,904,600
= 1,125,000
< 200,000
Al 520,000
402 RIZERH20IH 1,833,240 3,749,600 1,916,360
= 1,119,000
(= 198,400
Al 515,840
02 QI TH2AILEE (01X THE) 1,833,240 3,749,600 1,916,360
OFIINSIH&E) 7Y XA ()
5,880,000 *248CH 1,458,240
= 744,000
& 198,400
Al 515,840
OIS RHSE) (=EIFIH
3,000,000 *125CH 375,000
= 375,000
405 THAEFESHI 11,760 0 11,760
= 6,000
< 1,600
Al 4,160
01 Tt =S F=SH 11,760 0 11,760




o= ZHEE=
I [H)|BAEA

o L

2AM - BEu

ot THOIEFE RS (SH9 H2)
AR RA BB B(S) - MBAY - B Ofl by A HmS2
OIS AH(EE) 7L X
5,880,000 2CH 11,760
= 6,000
[ 1,600
Al 4,160
IS BESA(3H2) 1,270,400 7,848,000 6,577,600
= 800,000
[ 134,400
Al 336,000
402 QIZEXH20IH 1,222,760 7,848,000 16,625,240
= 770,000
< 129,360
Al 323,400
02 QI EASEZ(0IETHR) 1,222,760 7,848,000 16,625,240
OISR (EE) 7 XA (ZNH)
15,880,000& *77CH 1,222,760
= 770,000
< 129,360
Al 323,400
405 THAHE S 47,640 0 47,640
= 30,000
< 5,040
Al 12,600
01 Tt =S F=H 47,640 0 47,640
OISR (EE) 7 XA
15,880, 000 *3CH 47,640
= 30,000
< 5,040
Al 12,600
IS BESME(SE) 2,142,000 1,638,000 504,000
= 1,190,000
< 285,600
Al 666,400
402 RIZERHZ01H 2,142,000 1,638,000 504,000
= 1,190,000
< 285,600
Al 666,400
02 RIEN 2 A EZ(0IMTHR) 2,142,000 1,638,000 504,000
OMIINSAHSE) 7L XA (ZNH)
126,000,000& *17CH 2,142,000
= 1,190,000
< 285,600
Al 666,400
HII0IEX 22 A 35,200 160,000 /124,800




o= ZHEE=
I [H)|BAEA

o L

2AM - BEu

Chel: Ho18-goHe (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

= 17,600
= 5,280
Al 12,320
402 QIZERHE01 & 35,200 160,000 A124,800
= 17,600
& 5,280
Al 12,320
02 QIZFXHE AL B X (01 &THE) 35,200 160,000 A 124,800
O&EII0IEX ESAIS (HH)
1,600,000& *22CH 35,200
= 17,600
& 5,280
Al 12,320
2| HIXH 2,583,160 3,813,210 A 1,230,050
= 1,291,580
& 387,474
Al 904, 106
402 QIZ2ERHE0I & 2,583,160 3,813,210 21,230,050
= 1,291,580
& 387,474
Al 904,106
02 QIR AL B X (01 & THEA) 2,583,160 3,813,210 21,230,050
0552 L&A RA ZIIHIX XA (HH
1,600,000 *543CH 868,800
= 434,400
T 130,320
Al 304,080
0452 S2ERA ZIIHIX XA (FH
3,700,0002 »421CH 1,557,700
= 778,850
& 233,655
Al 545,195
OZAEIIA ZINIHIX K2 (& H)
3,730,000 *42CH 156,660
= 78,330
& 23,49
Al 54,831
2 M3oil =X 71,400 156,900 285,500
= 35,700
& 10,710
Al 24,990
402 IZERH=0IH 71,400 156,900 285,500
= 35,700
T 10,710




; ZHEE=
MBI
SE R PIEEPITE

2AM - BEu

AR RA BB B(S) - MBAY - B O &kt A HImEET
Al 24,990
02 QI EAIE B A (OIMTHE) 71,400 156,900 285,500
ODPF2 2} 3,300,000 +8CH 26,400
= 13,200
& 3,960
Al 9,240
OIE3IST HSa HE(ZH)
15,000, 0003 *3CH 45,000
= 22,500
& 6,750
Al 15,750
AEIIH MBol £XI 814,000 208,500 605,500
= 407,000
& 122,100
Al 284,900
402 QI X201 A 814,000 208,500 605,500
= 407,000
= 122,100
Al 284,900
02 QIZIAHEAIE B A (OIMTHE) 814,000 208,500 605,500
OA4I A AR WA
16,500, 0002 *24CH 396,000
= 198,000
= 59,400
Al 138,600
OBRXNAX HS3H2ISAE)
38,000,000 8K 304,000
= 152,000
== 45,600
Al 106,400
OZFXAX HS3H2IS0l2)
38,000,000 *3CH 114,000
= 57,000
& 17,100
Al 39,900
el0] S&txteF LPG & &t 12,000 15,000 A3,000
= 6,000
& 1,800
Al 4,200
402 QI2HXH20I ™ 12,000 15,000 A3,000
= 6,000
= 1,800
Al 4,200
02 QIZIXHEAIE B E(OIMTHE) 12,000 15,000 A3,000




o= ZHEE=
I [H)|BAEA

o L

CHels ODIEoHe

2AM - BEu

AESE VTR

A (32) - Al

FAY - BE=

Ofl &F2H

MEE
Ofl &k2h

O0lgloI St ate LPGA

]
0

(

oH)

bl

3,000,000 4CH

mhoH

=

12,000
6,000
1,800
4,200

hoH

=

4,050
2,025

607
1,418

1,090

2,960

402 SI2ERHE0I M

Mo

4,050
2,025

607
1,418

1,090

2,960

150,000 272

Mo

=

4,050

4,050
2,025

607
1,418

1,090

2,960

NEE N=sA222 £X NFAE

Mo

=

18,000
10,800
2,160
5,040

12,000

6,000

Xt

M

o

[
i

0
J

402

Mo

=

18,000
10,800
2,160
5,040

12,000

6,000

02 QIZEXF 2 AL E = (0IE T

OINEE H=ARY 22N

10

o (Z )

600,000& 30

hoH

=

18,000

18,000
10,800
2,160
5,040

12,000

6,000

OIMEX SHHE L2 AIXR(E

&)

SRR

=

136,000
68,000
20,400
47,600

144,000

28,000

101 2124d|

SRR

115,800
57,900
17,370
40,530

121,000

N5,200

04 JIZtN22 NS84+
Ol Al 12

og0

80,2402 x4H*210

115,800
115,800
67,402

121,000

A5,200




=2 AHe=
B DB

o L

2AM - BEu

Rl oo (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

s 33,701
= 10,110
Al 23,591
oxFaY 80,2403 x4 H 42 13,481
s 6,740
& 2,022
Al 4,719
ocHXtg 80,2403 *4H+102] 3,210
s 1,605
& 482
Al 1,123
o ZHH O] 10,0003 *4H*210 8,400
s 4,200
& 1,260
Al 2,940
o ZAZAH| 140,000 4% 103! 5,600
s 2,800
& 840
Al 1,960
oHEE 550,000 4 H x23] 4,400
s 2,200
& 660
Al 1,540
c4EE = 13,307,000& % 14! 13,307
s 6,654
& 1,996
Al 4,657
201 LEr2 | 20,200 23,000 A2,800
s 10,100
& 3,030
Al 7,070
01 AtR2telt] 15,600 18,000 A2,400
OUIZZAl Xt Xt
650,000 x2CH+ 123 15,600
s 7,800
& 2,340
Al 5,460
02 3244l 4,600 5,000 2400
OUZ2Al Xt REHI
3,000,000 14 3,000
s 1,500
& 450
Al 1,050
O&Hl |2+ 800,000& *14! 800




D ZHEE=
SN PEC a2 bt

2AM - BEu

‘3%;2 CHo18tE e (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

s 400
= 120
Al 280
O=2E sue3 800,000 * 14! 800
s 400
& 120
Al 280
22 ARE SZXAE X1 X3 252,348 302,400 50,052
= 140,193
& 33,646
Al 78,509
402 QIR0 & 252,348 302,400 50,052
= 140,193
& 33,646
Al 78,509
02 QIZEXHE AL B X (01 &THEA) 252,348 302,400 A50,052
OL7E AHSE SRIAIE X RIZALS 252,348
o A2 Y (loT) EAHIIII X2 A
4,019, 3002 *207H 2= +90% 72,348
= 40,193
& 9,646
Al 22,509
oz Mt XIJ A
100,000, 000& *27H 2= +90% 180,000
= 100,000
& 24,000
Al 56,000
FHAHE OISAE AUHBIIE SEML 10,000 14,000 24,000
T 3,000
Al 7,000
201 2Et2 2 10,000 14,000 24,000
& 3,000
Al 7,000
01 Ar2eltl 10,000 14,000 24,000
OHZHAAS 0ISAIE AUZII1E =EX
A ==z 500, 000& 2001 2~ 10,000
& 3,000
Al 7,000
S3EN 2Z AL 5,600 7,000 21,400
202 04d| 5,600 7,000 21,400
01 3LHO LI 5,600 7,000 21,400
O ZEMF=T0HI
20,0003 *7H*402] 5,600
SAHIIEEA 2R 108,000 108,000 0




D ZHEE=
SN PEC a2 bt

2AM - BEu

‘3%;2 CHo18tE e (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

& 32,400
Al 75,600
201 22 108,000 108,000 0
& 32,400
Al 75,600
01 Ar2eltl 45,000 45,000 0
O&Hl S0t Bot & AEFA =8
15,000,000 37 2 45,000
= 13,500
Al 31,500
02 2324l 63,000 63,000 0
O|XE+H et
21,000,000 *3IH 2~ 63,000
& 18,900
Al 44,100
SAUIIEE A SR (KHA) 36,700 12,800 23,900
201 L2 | 14,700 12,800 1,900
01 At 2telt] 7,500 8,000 A500
OEANHIIEEL EHl 225 7L
500, 0002 53] *3CH 7,500
02 2324l 7,200 4,800 2,400
OZAIIEEAL 22323
200,0002 *30H 2+ 123 7,200
405 KHaHE S| 22,000 22,000
01 AL = SF = 22,000 22,000
OZAIUIIEE A OIMEX AIZMFHD 2
22,000,000 & *14! 22,000
AT S 97,11 106,971 9,860
| 87,400
& 2,913
Al 6,798
301 LetEEF 97,111 106,971 29,860
| 87,400
& 2,913
Al 6,798
01 MBI EEAG62(2DEXTHA) 97,111 106,971 A9,860
OMBIIIGH QTR RUMEaY
77,111,000& 14! 77,111
| 69,400
& 2,313
Al 5,398
OABIlol IEX 2LSH
400,000& x5 102 20,000
| 18,000




=: dNeE= A 23

Hu: OD|BE

=aak EHJI%??JHE (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
[ 600
Al 1,400
NS 2,080,281 2,138,123
= 38,000
= 75,000
[ 48,900
Al 1,898,381
JETESH 2 2435t 310,271 408,402
CE3E £ ¥ SHFMEMY 151,331 239,462
101 QI24H| 113,111 111,242
M IRMZZ2HS e 113,111 111,242
OZE3¥ M= ¥ sx2el 59,532
=JllEgg 96,8002 10 +50 48,400
oFFE 96,800 10 * 10 9,680
CNEANEE FES
58,080,000& 2. 5% 1,452
OLESd =8&Y t= 2 53,579
=JllEgg 96,8002+ 10 45 43,560
oFFE 96,8002 x 10«9 8,712
CNEANEE PES
52,272,000& 2. 5% 1,307
201 L2 35,220 25,220
01 At2teltl 32,220 22,220
Oggt==H| 16,620
oL EIR AT B EX & B
3,000, 0002 14! 3,000
oZEU AIE B EE MM 7
5,000,000 *14] 5,000
oAU MgPISE 2
2,030 =4,0000H 8,120
oI EH =2
500,000 *14] 500
ogxt= 4,800
oAEEH ¥ MEdH gxtz
600,000 *4CH*23] 4,800
OLESd 22l SRAZZA LIS
400,000 2 800
OZESH =ZIHEAY ASREAM 2
=g 100,000& 20 +53] 10,000
2 352484l 3,000 3,000
OAIEEHl |l 3,000
oXgae| HIS 2l & & 7
500,000 65 3,000
206 TH=HI 3,000 3,000
01 M= Hl 3,000 3,000
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A2 FHP= SN B
HH: SRSPRH
29l se=d (crel ®2l)
. e orrm . rS[E L =
A2 2A BB GRS - NISAY - BES ol k4 Sicron HInE2
101 Q1248 47,115 46,406 709
WBIEEESNEPS 47,115 46,406 709
OMEISX HER 012 47,115
ollza 106, 4002 % 122 %302 38,304
oFE4Y 10,4002 122 %62 7,661
cNENHEE RYS
45,964,80021%2. 5% 1,150
201 2ete | 86,340 83,220 3,120
01 Ak 2t2|H] 24,520 19,900 4,620
2T IIAIGIEK ERE M
3,000,0008! 15 3,000
OMENSX FHl Bl Xt
1,000, 0008 %2553 10,000
OFZAA 228
80,00021+80H 2123 7,680
OZBSA LS Y 248
70,0008+ 1224 840
OMEHSK L &S24 HET 7Y
3,000,000 14! 3,000
0?2 2B2YY| 38,820 40,320 21,500
OFESA OV F8Z
120,0002+3CH+ 102 4,320
OYBSK LERHE QY AEZ
50,0008+ 1224 600
OMEIEX Al&2 |2
25,000,00021%14] 25,000
OZESK LSRHE (2, B FIIE
450,0002!* 102 5,400
OXZpe| HIE 42| 2 227
3,500, 00024 14! 3,500
03 A2 23,000 23,000 0
Ogsr2 gyl 20,000
SHHISEN MEZTZIY SASY
80, 00024 %102 %203 16,000
CMEEK MEZ2IY 2
200, 000! <203 4,000
OMEHSX #AH L MADIE 29
3,000,000 14! 3,000
202 01t 3,000 3,000
01 2U oAl 3,000 3,000
OSXI=AA FF 0|
20,0002 %32 %503 3,000
206 T2 6,500 15,000 8,500
01 M=l 6,500 15,000 28,500
08 BR L X 7
2,000, 00024 14! 2,000




e R SN BRI
B SXBBLH
ool sa=el (2ol z8l)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=- TN - 35 T g . Ol ko s2
O&C & &Kl 2els 2 2L
2,000,000 *1A 2,000
Otdlg & g4l ¢ 2,500,000 & = 1A 2,500
301 LEtEX 2 22,600 22,200 400
11 HAIAHI X2 22,600 22,200 400
OMEIRUHE 2224
90,4002 *10Y 25 22,600
401 A& H|ILE0HY] 74,000 70,000 4,000
01 Al&H 74,000 70,000 4,000
OIS B#ZZY|
22,000,000 *23| 44,000
OZEINAIASA L MAAKIOHE & A2
S=3 A 30,000,000 x 14! 30,000
MEfZAZX S K& .= 76,000 90,000 A 14,000
= 33,000
= 11,400
Al 26,600
307 S1Zto| & 76,000 90,000 A 14,000
= 38,000
& 11,400
Al 26,600
02 QI AMAIEE X 76,000 90,000 A 14,000
OMEAZZNIS XN, K4
76,000,000 *100% 76,000
= 38,000
& 11,400
Al 26,600
=L SK Ra2e| 95,135 89,461 5,674
101 2124d| 26,175 25,781 3A
M JIZHHIZ2ENSEs 26,175 25,781 3A
O=EZSA M= 0IF 26,175
ollEa 106, 40021+ 102 %202 21,280
oxgELY 106, 40024+ 102§ 42 4,25
ocNBATEE 22
25,536,000 *2. 5% 639
201 LEr2AH| 38,960 33,680 5,280
01 AtR2t2lbl 14,840 9,560 5,280
O=ZLsk 222 &
2,000,000 2= 4,000
O=2LSKA Ad| HUIL X
1,000,000& *43] 4,000
Ox=&HA =42
80,0002 *x63| *8IH A 3,840
O=ZEKk W A28+ EZ2XNMN 2L
3,000,000& =14 3,000




A= FHEE= =
M SRPEH
o9 s4=g (el @2)
Al = % o|(5 = dMEE =
A 2A - B . () - HIRAIY - BES (1;| Palgely Ol AtoH Hlwsz2
02 2224l 24,120 24,120 0
O&=E S (CVald2
120,000 x12& *301 & 4,320
O=Z&X A2 K22
15,000,000 * 14! 15,000
O=EsXl NIz 400,000& *12& 4,800
401 Al HIL £ 0HY| 30,000 30,000
01 Al&HI 30,000 30,000
O&ESK FHEA FHIAE
15,000,000 & 24 30,000
ZEMEEE Q20E T (A HEZA) 150,000 150,000 0
= 75,000
& 37,500
Al 37,500
307 212+01 A 150,000 150,000 0
= 75,000
= 37,500
Al 37,500
02 QIZHAAAIEER 150,000 150,000 0
OZZMEEE Q0= JEgmz (2
HEZAI) 150,000,000 *100% 150,000
= 75,000
= 37,500
Al 37,500
MEHEH 22l 29 1,189,320 1,160,434 28,886
HMEHE Ald2e] 1,077,800 976,934 100,866
201 B2 AY| 2,800 895,127 ABR,327
01 AtR2telt] 2,800 664,727 AB61,927
O=MEAIMEHH 29 I22ds 2
=g 100,000 * 14 23| 2,800
308 AXISHMSO0IA 1,055,000 1,055,000
13 I 2SHIHEHE & &2 ALY 1,055,000 1,055,000
O=sMT M ASEHE 2IEAILUI(ZA)
1,055,000, 000 * 14| 1,055,000
403 REXIHMS K201 20,000 20,000
02 SISO CHSt A2 X RIEAIS I 20,000 20,000
OSMTAIMEHE IEAILEI(XE)
20,000,000 & 14! 20,000
e & 2AdE 2 111,520 183,500 AT1,980
201 B2 AY| 43,520 157,500 A113,980
01 A=R2teld| 3,520 42,500 38,980
OJ|Ixz8tdu=s 29 NEF3e /7 =Y
100,000 * 14 *23| 2,800
O#AL XtE X238l
15,000 *8BA| 2H+6H 720




A FRBA 2A 22
u: SEAEH
o MEHMEH 22 2% EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
03 At2ZH] 40,000 115,000 275,000
Oget23| 20,000
cHUEIZ)H 2Y
250,000& 401 x20== 20,000
O] 20,000
oMbsl ZESHFWE HAEIL
20,000,000 * 14! 20,000
202 o4t 3,000 3,000
01 =WHO4 bl 3,000 3,000
OMEHH &4dst =& ol
20,000 *3H*503] 3,000
206 M=4| 5,000 5,000
01 MZHl 5,000 5,000
O=MEA s 2 HME MEHl
50,0002 *1094* 102! 5,000
308 AHXIHM SO & 60,000 60,000
13 I 2 S0IeHE &R S AL I 60,000 60,000
OZus Z20d 23 HE AL
60,000,000 14! 60,000
2AZ HoHE4a O =& 473,010 311,420 161,590
A3 HIH2 4 473,010 311,420 161,590
A2 24 28 3| 273,010 211,420 61,590
201 Let23| 260,010 205,420 54,590
01 ArR222lt| 114,210 70,780 43,430
OZASEMY B2 ME 13,500
oESESY MEH
70,0003 *5IH*10JH 2 3,500
oEBE MEF 2502 %40, 00004 10,000
OZAZEAZ MEMA OIM
602 *35+50, 00004 9,000
OZAsEAZ ZEENM UM
4002 +50,000F *13] 20,000
OXGASHBA RS A =&
100,000 x5 53] 2,500
OSTANRA HLEH 2 25 X 24,810
oBAZ UE - H AIRA 2H(1-31)
110,000 x6CH+5IH 2~ +3E 9,900
oBAZ MEARL 2E(4128)
110,000 *9CH*1JH A +9F 8,910
oSAIEHl P 6,000,000& * 14! 6,000
OESTZMRL 2| 28 7Y
6,000,000 x 14! 6,000
OZASEAEH Xt
2,800,000&*12& 33,600
OzZasEadYH 2teld|
400,000+ 128 4,800




; ZHEZ= SN BB

=4S 24 EER=E)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
02 S5=g4l 145,800 134,640 11,160
ORASEAZ ZHENN 25 W2
1,80021+48,0002 *1.52 129,600
OZASEMUH S 2088
500,000& * 128 6,000
OBASEAUE MIIE
500,000 * 122 6,000
OZASE2EHUH SUHHIAAY 018=
200,000 x 122 2,400
ORASBAHEHCN X2
150,000« 128 1,800
202 04| 3,000 6,000 23,000
01 =LHO LI 3,000 6,000 23,000
OZASUHH =0
20,0002 x5 *302 3,000
401 Al HIZL 2018 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OZAS24HH WS QHI2IN
10,000,000& * 14 10,000
HIE=H0IE XA 200,000 100,000 100,000
401 AIE2BIXL S THYI 200,000 100,000 100,000
01 Al&HI 200,000 100,000 100,000
Otlg&=#0t2 XI2AE
200,000,000& *14] 200,000
HH2IZH(2FM) 34,800 30,400 4,400
=3l 34,800 30,400 4,400
JI=23Hl 34,800 30,400 4,400
201 fer= 3| 22,800 18,400 4,400
01 At 2|l 22,800 18,400 4,400
Oget=EH| 12,000
oHHARESH 4,000,000 * 14 4,000
o+l
200,000 x4 5+53] 4,000
oJ|Et=EH| 4,000,000 *14] 4,000
o284l 10,800
oJ|2HRd SAH|
9,000 x5 *202 * 122 10,800
202 04l 7,200 7,200
01 =LHAHI 7,200 7,200
OJl2g =801l
100,000 *82|+9& 7,200
203 =4l 4,800 4,800
M FA2SHIFII 4,800 4,800
ORMEgER=Y 400,000 123 4,800




H & 0l & AHS B Ml A

ZHE= A ¢ =gt
st MBS XA
SEXHQ =8t 2< (SH9 H2)
2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
=2t 40,869, 186 48,550,109 7,680,923
= 559,500
= 220,140
& 462,410
Al 39,627,136
WEE MEEH XY 27,085,379 34,899,384 27,814,005
= 559,500
= 220,140
& 448,410
Al 25,857,329
SEXHQ ANz=edH 29 5,453,725 3,604,536 1,849,189
= 452,000
= 316,400
Al 4,685,325
ESYNESINEE | 529,494 534,571 AB,077
101 eI H| 24,34 23,991 403
M IItHZ22SEs 24,3%4 23,991 408
OXE =y = &Y 2
96,800 *7H+3L*73] 14,230
OXA =2y =8 TF AT 212
6,800% *7H *x3*53| 10,164
201 B2 AY| 464,600 463,080 1,520
01 ArR22ltl 78,600 77,080 1,520
Oo=2g=< 29,100
oYX 60,000& x 120 7,200
o= 60,0002 365 21,900
OgEt=ZH| 49,220
oHAIRAI 2L ABERY
220,000& 205 4,400
ocXMIIHMAA NS T
1,200,000& = 12& 14,400
o™I|dH|l HIIZA =2
800,000 * 14! 800
O AYUCIMAA =2
700,000 * 14! 700
oXlote QAT AT
200,0002 *403! 8,000
CEAQRAL A T
800,000 *43|*3JH 2~ 9,600
cEES 2E8E TA =5
342,900& *243 8,230
o¥3x Eh &=H =28
345,000 +2I 2~ *13] 690
oAty HHAIAH AIZE
100,000« 12& 1,200




WEEE SA RS
Heh MEBHA XA
SHol NAzBHE 29

S - A B9(E0) - HRAY - BES of v A
oHAXHE ] UHAAY AIEZ
100,000 « 122 1,200
OSIEn S| 280
oottt WE 160,000 *1& 160
oflggoNBNt B
120,000& *1H 120
02 S3=24Hl 386,000 386,000
O332= % HAl 360,600
oRAEUE FII22
25,000,000 «12& 300,000
ot =dH dotr=E2=3
5,000,000& ~12& 60,000
oA OHM FalH| 100,000 *14! 100
oFASEE = 500,000 14 500
Og =l 3,000
oF ALY 2RI 500,000 x6E 3,000
OAlE &I Xl 22,400
oAl RXI2= 5,000,000 14! 5,000
oHZ NHSAAH(BE) |2
1,500,000 *42] 6,000
SHIEAEOH, HII) RS
1,000,000& *42] 4,000
o¥Es XMilsS A2 RAEF
1,000,000 *42] 4,000
o¥E+ M+&Hl =2+
500,000 22 1,000
oHZ24 FIE 1,000,000& *22] 2,000
=M=J| =2l 200, 0003 +2CH 400
206 =4I 10,500 10,500
01 M=4l 10,500 10,500
OHgEE A=SAT 7Y
8,0002!*1,000S 8,000
Odgd 23 M 7 50,000& *505 2,500
401 Al HIZL S 0HYI 30,000 30,000
01 A&l 30,000 30,000
OdlE =X SF 3|
15,000,000 x 14! 15,000
OdIE L e-83H] 15,000,000 x 14! 15,000
AE ==X A 17,850 15,200
201 L= 6,650 5,600
01 AFS2t2ltl 6,650 5,000
Oul=s| 5,000
oX@ HA=S(4 - of) 7L
180,000 *15% 2,700
oXE Hgal 2¢ 90,0002« 159 1,350




AERE SN TREE
M AE MEeEd Iy
Ciel: 5BX0 NASBUE 2 (cre:xigl)
A 2A -G9S - HRAY - BES ol & Cie HIRS2
o=@ 29 2l 20,00021* 152 300
oEE 22X BY 7Y
2003 * 13250 650
OgEt=ZH| 1,650
ocftZate|R HUEY SZ2IH MEH
150,000& «11H 1,650
301 LetEEZ 11,200 9,600 1,600
11 HALAHIXIE 3 11,200 9,600 1,600
Otz 2eld 23S At
70,0002 +160H 11,200
=2l AlE2 2t 2,199,381 2,204,765 Ab,384
101 @I24H| 1,082,031 1,064,147 17,884
M II2tHIZ22HSE* 1,082,031 1,004,147 17,884
OMEES dg8&y FY 1,001,880
=llEgs 96,800 *30HE 60 +53] 871,200
oFsaY 96,8003 30«40 116, 160
SRtPN A=y 96,8002 +30H x5 14,520
ONE=EE =Y 22y 80, 151
oJllEgs 96,8003 *6EH 60 23] 69,6%6
oFFH 96,8002 6~ 16 9,293
SRtPN I, 96,8002 6«2 1,162
201 et 233,400 231,200 2,200
01 At 22|l 38,600 36,400 2,200
OgEt=ZH| 38,600
SHYZS 28 +42
600,000 * 12/ *4Z | 2,400
oNE8S HEE 2¥2E 1Y
10,000,000& * 14! 10,000
SMBHIIS S2IX HATA 448
2,350,000& 4= J|*13l 9,400
olMEsHEN 22X X0 H 2
75,0003 *40H *43] 12,000
oMEsEdEY 22X 0tAT 7Y
500021 x40 x243] 4,800
® 222 194,800 194,800 0
02223 2 AA 3,200
oNEEES SuY FH2
550,000 +8CH 4,400
oA 2UXY FHE
800,000& *13] 800
o SIS} tHIERUS
15,000,000 & *23| 30,000
OASRHISIYI 3,000
STZEES AILES 44 S|
1,000,000 63! 6,000




A= ARBE= SN R
Ha: W MBEY XA
ol SENO AL 2Y (o @)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
CHEEES HY P2 AEES =8 2
bl 8,000,00021 14} 8,000
oHEES 2=II(H HEY S)24
7,000,0002 14} 7,000
oTHEE HYUE 24 XY
15,000, 00021+ 14! 15,000
OXtzr. Mt 123,600
CTEES 2SI +4 S|
667,50021+80} 123! 66,000
oHEBS 2¥XZ RFY)
600, 00024 BCH 122 57,600
307 L1201 778,950 784,418 75,468
EEEEE] 778,950 784,418 75,468
OMEBE HHIIS HelHe
270,000 +465 125,550
OHBILTHT el Ha
235, 0002142, 200 517,000
OBBILERT 28 (Ha
62,0002/+2, 200 136,400
401 AIEBI L 2OHE] 105,000 125,000 220,000
01 A&t 105,000 125,000 220,000
OMEBE HEF 24TA
40,000,00024 14} 40,000
OHIE FIIANLES S2BA
20,000,0002 14} 20,000
OOV & ZAIZA HEIZA
10,000,002 14! 0,000
OH2a L NEF JHIZA
10,000,0002114] 10,000
OS88A 0157} AER2 B
25,000,0002 14} 25,000
MBS SHE AT A 2,707,000 850,000 1,857,000
= 452,000
= 316,400
Al 1,938,600
401 AI&HI L S CHE] 2,707,000 850,000 1,857,000
=2 452,000
= 316,400
Al 1,938,600
01 Al 2,707,000 0 2,707,000
OMEIIRS|SHIE &AL
1,507,000, 000214} 1,507,000
=2 452,000
= 316,400
Al 738,600
OMB RS SHE SXAL(ZSHEA)
1,200,000,00021 %14} 1,200,000




A= FHEE= A ARz
= DiNsH MESH XM
Ce: NREBHE FHA X (9l @)
Al = % o|(5 = dMEE =
A 2A - B . () - HIRAIY - BES (1;| Palgely Ol AtoH Hlwsz2
NRAE=sHEH FHISE X 309,800 307,560 2,240
NREsHE FHIS 22| 305,000 305,000 0
301 LPENS 305,000 305,000
11 HAFRHIXI A2 5,000 5,000
OXAZSHE FHXHF0 HATAE Hs
5,000,000& * 14! 5,000
14 J|EtE A2 300,000 300,000 0
OXBEBHIE T8 ZAINY
300,000,000 14 300,000
At z=2dlE XI2AE 223l 4,800 2,560 2,240
202 0idl 4,800 2,560 2,240
01 =LHO4 L] 4,800 2,560 2,240
OXrE=8tHlg] =TS X2 =R
20,0002 *4H +53| « 12& 4,800
HOI2XeIAlE 8X ¥ 2el 5,802,825 8,786,300 A2,983,475
g & =£&H| 2tel 191,000 191,000 0
201 LBt2AY| 191,000 191,000 0
01 A=R2teld| 12,400 12,400 0
Odxt=z 10,000
oAMD|H S &Hl Xz
10,000,000 14! 10,000
Oget4=-gH| 2,400
ol ZESHIEE 3T EHE d2z
00,0003 123 2,400
2 S=29| 178,600 178,600 0
02222 ¢ HMAl 7,000
oHAIHEY BEE
875,000 & +8CH 7,000
OA&EHIR X 10,000
o EAHl L N2 RAE=
10,000,000 * 14! 10,000
OX+eF Hety| 161,600
oAAI|HEH RRI
14,000,000 «8CH 112,000
oHAIIHAY %2l
6,200,000-& +8CH 49,600
MNESZHEE S22 30,000 30,000 0
401 AIEHIL 20| 30,000 30,000
01 AlEHI 30,000 30,000
OAEZEZ A S22
30,000,000 14! 30,000
NRE=2HE HEE szl 1,049,905 2,009,050 A959,145
201 B2 AY| 610,405 719,050 108,645
01 AtR2telt] 25,000 19,000 6,000




o= ZHEE= A =S
3 YHE HEged £d
Rl HIISXCIAIE EX 2 22 EER=E)
o - - o dEE =
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & S HlmE2t
OHDISHEAIE EIIEA =2
17,000,000 » 14 17,000
Oggt==H| 8,000
oHEAE 2223 78
8,000,000 *14] 8,000
2 S5=24g4l 585,405 700,050 A114,645
OCHDISMERGS (A2, MHEA)
15,0002 +39,027& 585,405
206 =4I 47,000 47,000
01 M= HI 47,000 47,000
EE2T 204 20,000,000 *14] 20,000
OUEAE gH9ES 7
30,0002 x200H 6,000
OUgXl & Haty Ay E 2
35,0002 +600S 21,000
401 AlEBIYL S THYI 392,500 1,243,000 850,500
01 Al&HI 390,000 1,240,000 850,000
OEAE |2 2 AT
150,000,000 *14] 150,000
OXE =g 2852 M=
50,000, 000& » 14 50,000
O&E+ Mol & 522 RIZ2s
50,000,000& x 14 50,000
OXE e A2 HEEY
60,000,000 *14] 60,000
OX=2HdlE] HIE2YE MZAIE dHE
80,000, 000& » 14 80,000
03 AlZSR0HYI 2,500 3,000 A500
OUEAIE |24 RO
2,500,000 14! 2,500
HOISHEIAIZAIY 293 4,000 3,040 960
202 04l 4,000 3,040 960
01 =LH0d 4,000 3,040 960
OHIISHMelAIEZArE F=2104H]
20,0008 x4 +503] 4,000
NA=EHHE A22AIE S22 4,527,920 6,551,110 12,023,190
201 el 6,000 6,000 0
2 352484l 6,000 6,000 0
OAXZIAIE SHHYEE=
6,000,000 1 6,000
207 ARl 20,000 5,000 15,000
01 g S| 20,000 5,000 15,000
OHJIZ A4 248 Sl B&E &
A 5,000,000& 12 5,000
OHJIZ ~ZAI4 fIEXeHl & g8 &
g 15,000,000 13 15,000




=: dNeE= A =S
3 YHE HEged £d
Rl HIISXCIAIE EX 2 22 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
307 2Ito1d 4,090,000 6,028,000 1,938,000
05 BIRtRE S 4,090,000 6,028,000 1,938,000
OHIIE &AM 222
3,684,000,000& 14 3,684,000
OAZIAIE Zolitie 282
370,000,000& x4 370,000
Ol 2eHxte =R K|
800,000& *2CH*123] 19,200
OA2t 28 2=
700,000& <2CH+12& 16,800
401 AlEHIYL S THYI 411,920 512,110 A100,190
01 Al&HI 411,920 512,110 A 100,190
OHIISHMelAlE (A2AIE) EXIAY ALZ
SHEHSETA 351,920,000& =13l 351,920
OAZAIE FXI2clH]
30,000,000& 23] 60,000
d2HDI= g2 11,646,501 16,590,536 N4,944,035
MEMY DX BI2HPE 9,778,543 14,528,818 N4,750,275
201 fer23| 1,000 1,000 0
01 AtR2t2ll 1,000 1,000 0
o2g+e 1,000
cMEHIIE =& CHH A EOHA
3 =g 100,000 x5 »23] 1,000
307 2Ito1H 9,777,543 14,527,818 N4,750,275
05 BItRAEZ 9,777,543 14,527,818 N4,750,275
OdmHIlZz =828
8,500, 000,000 * 14 8,500,000
OUEHII=Z =¥ 28 tH
697,543,000 x 14! 697,543
OUEHII= Xel CH
580,000,000 x 14! 580,000
MeDISEH SF M 817,340 883,611 AT1,271
206 TH=HI 817,340 883,611 AT1,271
01 THZHI 817,340 888,611 AT1,271
OSAl= M 3% M 98,200
o22|H 242800, 0000H 19,200
SRR 262 1,000,0000H 26,000
o5c|H 32:&»700,0000H 22,400
=102l 402 *240,0000H 9,600
o202/H 602 350, 0000H 21,000
Ogtg S nASE M 339,920
o52|E 32:&*10,0000H4 320
=102l & 403+500,0000HK 20,000
=202/H 602 800, 0000H 48,000
o502/ 1302 1,000, 0000K 130,000




A= ARBE= SN XREED
mal: R MBY Xy
o9l MBEHIIZ HFBL (o) @)
A2 2N - BB O9(E) - HISAY - BES il v A HlDE2
o752l € 177214800, 00004 141,600
ONgE ZTX AAZE M 22,300
>32IE 26%1+100, 00004 2,600
o526 3221+100,0000H 3,200
o 102lEf 4021%100, 00001 4,000
o202 Ef 6024+100, 00004 6,000
S502IEf 13024450, 0000H 6,500
OTAIE AAZE M 178,300
SEE 4321460000004 25,800
S202IEf 6121%2,500,00004 162,500
OZTE RAZE M 9,800
<502/ 13021200, 0000H 26,000
o7521Ed 177:21+400, 0000H 70,800
OZZg NEEE 8 =25 NN 3,560
o502/ Ef 13021460, 00001 7,800
o752lEf 17721+140,00004 24,780
OMYISSHEE HXE ST FIX
330, 00024+ 145200 4 9,240
OMYIBTNEE EHE AES M
521+8,000, 00004 40,000
M2 U SXEIIS Hel 819,918 909,957 290,039
101 21218 406,028 399,317 6,711
M IRINZERS 2+ 406,028 399,317 6,711
OHeII2 H2 212y 33,880
o232 96,8002/ +202 % 102 19,360
ooFaY
18, 15021 x4A| 244202+ 102 14,520
OHRII2 MHEA 0l 43,560
SIEE 12, 10021%4A| 244802+ 102 38,720
oO0RRtag 6,050 % 1Al 2802+ 102 4,840
OBEoH BAB| QY
96,8002+ 102 %1002 9,800
OB S HAN Az A2y
96,8002+ 102 +702 67,760
O#FRA UH HL0 oy
96,80021+72 %2202 149,072
OEXEFB2IY (FH HA0 o=y 14,956
o=z 96, 80021 +62+222! 2,778
coiRg 18, 150214621 x4 Al 24521 2,178
201 Yur2gy| 295,290 301,640 26,350
01 Al 22l 202,180 209,850 A7,670
OYBr+gH| 106, 180
OHANE B A0 M
250,00024 %27} 2:#83] 4,000




A= JHEE= A ¢ =gt
Hu: BB MEEA TA
ol MEHDI2 HE 2 (SH &)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
o EYMY DI AIZIZAICE LIHYE EEA
ElH MIZ 4,000,0002!%14! 4,000
oMy J| HiE CHLH EXIEH MIZE
70,0003 x20004 14,000
oEHDIIZ2 tHE ZelAlAE SX2e
5,280,000& » 14! 5,280
oEHIIZ2 ¢NES & ctdzX
el 7 100&+130,0000H 13,000
oEHIIZ MAZHMAEIA Ol22
500,000& =123 6,000
oZZESF YA AEH HH
502 +400,000& 20,000
oM |IEES+H EE2 NE
2002 *20,00001*32] 12,000
oHAIE AR 2HEF FY
200,000& 105 2,000
oEtALR QIAHSH)ZEIAAY X2
el 3,000,000 14 3,000
oA 2I=E P
100,000 & +203| 10,000
SHOOE 47 442
3,000,000 *23| 6,000
SHIS 47 442
3,000,000& *23] 6,000
CUEIY 12 BB VW £42
900,000 * 14 900
ogx=z 96,000
oHIIZS(EY X, UEHIIE S)X2l &
HIYX=Z 560,000& *1002! 56,000
oIME MY Dl Ml &Hl dxa
40,000,000 14! 40,000
02 33244l 93,110 91,790 1,320
OUEHII2 POAHED| SRS
300,000& =123 3,600
O =2 HDI28sl A3l
3,000,000 *12] 3,000
OEANY BB 2B La|
2003 +2,000&+103] 4,000
O3=23 £ HMAl 7,450
oHAXIE UANSSE
50,0002 *7CH 350
cHAXY BEE 1,000,000& *7CH 7,000
oHANY BAMIRLYS
100,000 *1CH* 13 100
OH =] 1,500
oFtFAL I L HAXZ AIRA HE A
=H| 5,000 *39H 4100 1,500
Oxtgr deth| 70,560




A A=

S MEE T
MEHDI|I2 HE 2 (St &)
SA - A S90(30) - HRAY - BAS of v e HIDE2
cHAXY SEHl
390,000 7CH*12& 32,760
oHAMNY +HFX
450,000 +7CH* 122 37,800
ONEgssuItE |2
3,000,000& *14] 3,000
206 M=l 9,000 9,000
01 MHZH| 9,000 9,000
OBAXY ASAE 7
30,0003 2501 *23] 1,500
OFg 28 MyP|s 7
500,000& * 15K 7,500
307 212+01& 90,000 130,000 240,000
02 B HAHE L 90,000 0
Ot =stgd3s Al2lA = 90,000
oMy JIMZat AlI2IA
60,000, 0002 *100% 60,000
o= M| AIZIZAIE ZLIHE
30,000,000 *100% 30,000
308 AHXIHMSO0IA 11,000 29,000
13 2| HSOIChEZ A E S ALY 11,000 29,000
OBAHE A2 21|
5,500,000 22} 11,000
405 AtatE = 8,600 8,600
01 ML ESFSHI 8,600 8,600
OUEHDIZ ¢ IES Zele)]| 2
1,200,000 *3CH 3,600
OFAILY BE=dMED| 7
5,000,000 1CH 5,000
s 2& 48,500 /25,000
201 er23| 14,000 10,000
01 At2tltl 10,000 10,000
O=ESI| &5 0ISA ZAIDIH FAI2
= 10,000,000& » 1= 10,000
02 S3=gHl 4,000 4,000 0
OXtgrs 8] 4,000
QIR A& XY RFHl & 288
4,000,000 * 14 4,000
301 EtE NS 1,500 1,500
14 JIEt2d=3 1,500 1,500
OXgI| S8SI| A2 4
30,0003 *50&H 1,500
401 AlEHIZ S 0HbI 5,000 0 5,000
01 A28l 5,000 0 5,000
SYSI| B DFA ZAPHH St OlSE
Xl 5,000,000 * 104 2 5,000




A A=

S MEE T
MEHIIE HE 2 CERED
SA - A S90(30) - HRAY - BAS of v e HIDE2
405 AHaHE = 28,000 68,000 240,000
01 It =S F = 28,000 68,000 40,000
O="S)| &5 0134 Z2A9H02H 7
4,000,000 79K 2= 28,000
MDISEN gt 2g23| 12,520 12,370 150
202 04| 10,520 10,370 150
01 2L AL 10,520 10,370 150
OMeIISEH g4t =20
20,0002 7% 433 6,020
O=aEx B2 ol
10,000& x3& *1502] 4,500
203 HE=H| 2,000 2,000
03 A= LR F&IH| 2,000 2,000
Ot =2tA| =X 2,000,000& %14 2,000
gloteA 4Xl 50,000 50,000 0
401 Al HIZ R 0HbI 50,000 50,000
01 AlZ8| 50,000 50,000
OZ2¢&lot2A €1 50,000,000& »14! 50,000
sFzeld =X X 119,680 97,280 22,400
201 el 119,680 97,280 22,400
01 At22t2lt] 119,680 97,280 22,400
OLl=H| 112,000
oXg= 100,000 * 160 32 48,000
o9 50,0002 *160H 8,000
odet=s 130,000 »160H 20,800
SEY 25,0002 x160E »23] 8,000
o&gi st 55,0002 * 160 <23 17,600
o&dd S 30,0002 *160E *23] 9,600
Ol HLES 7,680
oltaE 40,0002 x160E 6,400
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oFxFsd 48,4002 x38 46 6,680
od@Xt=g 48,4002 =3 * 11 1,598
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=JlEs 48,4003 7 E*230! 77,924
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OMes8E WA (0tolAT HEH) oA
Bl 55,672
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oFFrd 48,4003 x5 »36& 8,712
cEig 48,4002 x5 F+8L 1,936
=1 54,208,000 2. 7% 1,464
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01 At22telt] 139,415 50,280 89,135
Ogit=2d| 28,400
oSAESRHIIS 2eltiE 222 MA
1302 %15,0000H 15 1,950
SHIIENS SH4LE+H 2= MA
1302 +15,00000*15 1,950
c23E ZctAE JHIH WESAY 2d
|2 28 74 11,000,000& * 14} 11,000
oMEES EllsHg 7Y
250,0003 *20H 5,000
cMEES 22+ 1=2Y 7Y
4,0002*1,0004 4,000
cHEZS e 7Y
70,0002 5001 3,500
SHAXMX +=He 2L
20,0002 *50H 1,000
O3S=8 RFID Sl J1J1 |22l
107,415,000 *14] 107,415
OMEDIMZSAIH0LE RFID D18 SAES
HOI2 28I |2+
300,000& * 12 3,600
2 35234l 35,720 188,789 123,069
O352= € MAl 1,300
o342 S| MEXE 288
1,300,0002 %14 1,300
Oxte. &=l 4,000
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CRA - FB . O(BH) - HRAY - BAS A HimE=T
oBAE )| MEXZ 2lbl(2Le] »
A, EOI0] S 23 n#)
4,000,000 14 4,000
O3 RFID S J101 S4ldl
5,000 5070+ 123 30,420
206 =4l 52,500 70,000 A17,500
01 M=l 52,500 70,000 217,500
OsA=2FHII2 HESI| 7
50,0002 x200H4 10,000
OSASRHIIZ NEEI| 228 79
850, 0002 *500H 42,500
207 A OH | 15,000 25,000 210,000
01 A= 9H| 15,000 25,000 210,000
OSASFRHIIZ S 28 & MBI &=
15,000,000 14 15,000
301 LBENZ 191,100 170,300 20,800
14 JIEt2 43 191,100 170,300 20,800
OMEBE +EFYS X2
189,800,000& 14! 189,800
OBEJIIESE & B4
30,0002+ 10H 300
OZTH 25 WET 2y
100,000& 10 1,000
307 QI2HO| M 483,600 475,050 8,550
05 QIZtRES 483,600 475,050 8,550
OSBAEFHIIZ HE+=NEI| HMA
2,712:350,00004 135,600
OHAEIZS XMl CH
1,450& %240,000kg 348,000
402 CIZERH=0I M 50,000 60,000 A 10,000
01 QIZERH2 AN 2 2 (REAIH &) 50,000 60,000 210,000
OJEE sA2HI| Hel)| X
1,000, 000 * 100CH*50% 50,000
HEY L MHESAME 233 3,200 2,960 240
202 o4t 3,200 2,960 240
01 =B 3,200 2,960 240
OXEES & s E8 =&AL
20,000 *4H *403] 3,200
dIOIE MelXIJA 49,100 59,900 A 10,800
201 L2 | 1,500 1,500 0
01 At 22|l 1,500 1,500 0
O=dI01E H2X& 22 ME
100,000& * 1504 1,500
401 AIEHIZL 28I 47,600 58,400 210,800
01 Al&Hl 47,000 56,400 A9,400
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O=zex =0/E ¥ ALHIIZ H2
1,880,000 «25& 47,000
03 Al 2 CHYI 600 2,000 A1,400
OZ0IE MIXBAIY LY
600,000& * 14! 600
Z20IE MHelX& 440,280 466,920 A26,640
s 220,140
& 44,028
Al 176,112
401 Al&HIZ 20| 440,280 466,920 A26,640
= 220,140
& 44,028
Al 176,112
01 A& 440,280 466,920 126,640
Oz#0IE M2l X
440,280,000 & * 14! 440,280
= 220,140
& 44,028
Al 176,112
SEHHIE =HBa=3 K& 30,000 30,000 0
= 30,000
301 LPENZ 30,000 30,000 0
= 30,000
14 JIEt2 &S 30,000 30,000 0
OSEHHIE +H243 X2
20@ *1,500,000kg 30,000
= 30,000
3sdotY &= X3 25,000 25,000 0
= 7,500
& 5,250
Al 12,250
401 A& B2 20| 25,000 25,000 0
= 7,500
& 5,250
Al 12,250
01 A&l 25,000 25,000 0
OBSToIE =5 X2
5,000,000 *5IH £ 25,000
= 7,500
& 5,250
Al 12,250
=g 843t NJAAY 123,464 312,000 A 188,536
& 61,732
Al 61,732
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4224 B G9(SH) - AIRAY - BES of v e HIDE2
201 er23 | 8,296 56,000 AN47, 704
= 4,148
Al 4,148
01 At2teltl 8,296 30,000 N21,704
Oongs s2= X
8,296,000 *14] 8,296
=S 4,148
Al 4,148
206 M=l 20,000 0 20,000
< 10,000
Al 10,000
01 MHZH| 20,000 0 20,000
O=cliiEs +¢ 200,000 = 100K 20,000
= 10,000
Al 10,000
405 KHoHFSHI 95,168 240,000 N144,832
=S 47,584
Al 47,584
01 TR =SFISHI 95,168 240,000 A 144,832
ONMEEE 22 2282 ¢
31,708,000 * 14! 31,708
< 15,854
Al 15,854
ORFIDSAlZE S8 ¢
1,670,000 *38CH 63,460
= 31,730
Al 31,730
Hess sz 24 55,160 74,072 18,912
201 2= 47,760 69,072 A21,312
01 At22t2l] 7,440 2,400 5,040
ongEs U4sa)l 222 N
120&%20,0000H 2,400
Os2+Il HE M8 =58
35,0002 «12CH* 12& 5,040
02 S3=gHl 40,320 66,672 N26,352
oMgss Mssl=Jl +=cl
3,000,000 *12CH 36,000
ONEEE Is2l)| Sties
30,0003 x120H* 12 4,320
301 EtE N = 2,400 2,400
14 IIEt2 83 2,400 2,400
OMEES ANs=zl=J| =H dEE
200,000 x 122 2,400
401 Al HIZ R 0HbI 5,000 5,000
01 AlZ28| 5,000 5,000
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42 2A - ZH - O9I(3) - HIRAY - By 0l &t A HDS
ONgES NSaFI| HIISA
5,000,000 14| 5,000
IsHDiE ssdoty £X 60,000 100,000 40,000
401 Al2HIZ = 0] 60,000 100,000 40,000
01 Al&HI 60,000 100,000 40,000
O=ssdoty &s Xd
60,000,000 *14] 60,000
QF =g X 35,000 0 35,000
405 THaHE =4 35,000 35,000
01 MM =SFSHI 35,000 35,000
O3 AF+AHE &1
700,000 *50H 35,000
Ctal&J1 MAIE STXI2 140,000 0 140,000
= 70,000
& 21,000
Al 49,000
307 elztol & 140,000 0 140,000
= 70,000
& 21,000
Al 49,000
02 B HAHE 140,000 0 140,000
Oota8ll 238 SXAA At
140,000, 000:2 *100% 140,000
= 70,000
= 21,000
Al 49,000
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s 14,000
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= 14,000
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03 SRA(RIH )22 U2+ 11,103, 184 10,909,110 194,074
Oostgdeld =20 11,103, 184
oJl2a 4,365,812
254 2,273,8603x 1602+ 122 4,365,812
cdu3(8249) 423,018
- 254 2,643,860 x50%*22] * 160 423,018
o &0 S (M) 1,861,278
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o YK (W)
40,0002 «160E 122 76,800
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oF M2 (IIR)
100,0002 160« 122 192,000
oML (E4AR L)
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o MSGH(PlMAL)
60,0002« 160 122 115,200
oS EMY|(FHZAH])
140,0002 160« 12& 268,800
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3,000 x160H x26 + 122 149,760
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165,720 * 160 *20 498,304
N4 HASREIS 2,311,434 2,280,393 31,041
04 SR (RIIHL) 22X BEERE23 S 2,311,434 2,280,393 31,041
O=gg 23
11,103, 181,360& *4. 5% 499,644
Ofl&z BE3
5,000,000 5% *13= *150% 487,500
OFl&Z S2HE 100,000,000& *5H 500,000
OElI2g S2tE 4t WYl EX
4,000,0002 108 *23| 80,000
OHLEE 2=
11,103, 181,3602 *3.545% 393,608
ORINQLYBERYZ
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OLEMNEER
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JASALANN 29 46,667 59,667 A 13,000
= 14,000
Al 32,667
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Al 28,707
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HH2HAY| (K22
234 Eel d )
SA - B - BRI(S10) - HRAY - B S A HIDEZ
OgptagH| 16,600
cHHARE 2ol
400,000+ 122 4,800
cHZYAREH =4
300,008 *4Z+32 3,600
cH2RER 20,0002 *5Z+ 122 1,200
oJ|EHgH| 4,000,000 14! 4,000
SMPIHHAAT Mot HIMHE ST HA
=g N3 1,000,000 %32 3,000
O=saitl 8,748
oll=giRad S|
9,0003 x27 H+33|x 122 8,748
Ogit= 6,480
o¥=)| A= 50,0002 «10CH* 122 6,000
oXE =S Hiol eXt=z
20,000 =20 =122 480
02 S5=2g4l 1,140 1,140 0
O=s2= & HAl 1,140
oTVblg 95,0003 x 122 1,140
202 048l 11,200 9,000 2,200
01 =LHOHI 11,200 9,000 2,200
OJlzgf=a80tl
100,000 x28 2 *43] 11,200
203 HR=H] 5,460 5,640 A180
M EA2HER=AH 5,460 5,640 2180
ORMEggexd 455,000 123 5,460
HREs (X&) 272,8%4 365,663 A\B2,769
LIS HHXIE 272,8%4 365,663 A\82,769
U II=z =4 272,8%4 365,663 A\82,769
RIsSdES 272,8%4 365,663 A\82,769
UIPIETSE—S 272,8% 365,663 A\82,769
O=2XNI= HES
272,894,000 x14] 272,8%
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M J|IRHsHE
& JIFHE HESE3H S8%t EER=E)
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A .24 B O(B1H) - MIRAR - BES Ofl e il tor HRE2
Ol LA X1 2+ 11,140,269 17,751,243 26,610,974
= 2,057,785
2l 90,400
< 1,045,714
Al 7,946,370
JIZHSIS 647,350 131,800 515,550
2l 44,000
Al 603,350
Jl=Hs HSEH 283t 647,350 131,800 515,550
7 44,000
Al 603,350
EBIAIZOIERN 2% 69,000 34,000 35,000
D] 34,000
Al 35,000
301 LPENZF 68,000 34,000 34,000
Il 34,000
Al 34,000
14 J|Et2 43 68,000 34,000 34,000
OBAZEQIEN WM 2o
68,000,000 » 14! 68,000
2l 34,000
Al 34,000
303 L&tz 1,000 1,000
01 Za=3 1,000 1,000
OEAHQIEN 2435t 2+ SHE HLAH(A
HIZ=DH) 1,000,000 %14 1,000
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2l 10,000
Al 10,000
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2l 10,000
Al 10,000
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OXSXt BAHQIE &0 B&Z
20,000,000 * 14! 20,000
7 10,000
Al 10,000
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OUHEAHAH BHEHAIE A3l
1,000,000 *14] 1,000
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OHDISR2 240tA tisael 21488 36,000
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9 11,000,000 14 11,000
cHIISRE EHMEAEAN ML BS
29 11,000,000 & * 1A 11,000
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e Y AEBY 15,000
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HEA 10,000,000 14 10,000
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15,000,000 * 14! 15,000
228 HMIIN3E M (ZHIEEXAAY) 10,105 10,400 N2
308 AXISHHMSOIH 10,105 10,400 N29%5
13 SI| 2SI CHeZ A X EAISHI 10,105 10,400 A295
2 NS S At
10,105,000 * 14 10,105
U RIASE 2FEH| 4,050 4,050
202 04t 4,050 4,050
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| 46,400
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J| 46,400
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Al 14,000
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402 QIERHEOIA 220,220 210,964 9,2%
= 66,049
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O&I M0 X =ERX| &AL
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402 QI2ERH=01 N 275,468 289,328 A 13,860
01 QIZFXHE AL B (KR THE ) 275,468 289,328 213,860
OEAIDIA oledbi2 AX(H| K&
825, 000 & #477Z K| *70% 275,468
CH==8 SADIA ES8 789,491 479,840 309,651
= 236,847
Al 552,644
402 QI2ERHE01 & 789,491 479,840 309,651
& 236,847
Al 552,644
02 QIR AL B (01 & THE) 789,491 479,840 309,651
OH=EF8 TAIDIA ESEHAIY
1,127,844, 0002 70% 789,491
& 236,847
Al 552,644
HASE BRI JIAHMIIHD| B At 9,360 10,260 2900
= 2,808
Al 6,552
403 XX HMS =01 9,360 10,260 A900
= 2,808
Al 6,552
02 B2 SHICHEH A2 X L EFALZ Y] 9,360 10,260 2900
OMASES DEXIF AT (EHO
=) 22Ad 60,0002 156 9,360
& 2,808
Al 6,552
LPGEJ| AFEJt= AIEIHE AN 49,590 67,500 A17,910
= 24,795
& 7,438
Al 17,357
403 XX SHHSKH=01A 49,590 67,500 217,910
= 24,795




o= ZHEE= SA ol XD
M WX 2tel X2
2l iHX 22 At (SH9 H2)
Al = £ o|(5 = dET =
AR RA B O9I(30) - HRAY - BaS ol &t e HDS2
[ 7,438
Al 17,357
02 S 2SOt et =& P EF A I 49,590 67,500 ~17,910
OLPGEI| AEItT AIENE AL
261,000 190 Al CH 49,590
= 24,79%
[ 7,438
Al 17,357
IR S=2el 8,120 23,450 115,330
201 Ler23| 6,500 22,010 ~ 15,510
01 At2teltl 2,000 17,000 15,000
ONAEAIDINY 2= ME
1,000,000 14! 1,000
ONAEEY ADZ 72
1,000,000 %14 1,000
02 3224l 4,500 5,010 2510
OJtA HEEHY =3
30,0002 =150 CH 4,500
301 LEIEEZ 1,620 1,440 180
11 SAREIXES 1,620 1,440 180
OItAOHN S22 24 S
9,000 *4H 453 1,620
THEAIE 2 4,334,400 4,414,300 279,900
< 100,000
Al 4,234,400
CIXtel=g 2e| 4,334,400 4,414,300 79,900
< 100,000
Al 4,234,400
E2HE & 230 HE =S e & e 101,000 101,500 /500
401 AlEHIYL S THYI 101,000 101,500 2500
01 Al&HI 100,000 100,000 0
C2H IS AL
100,000,000 14 100,000
03 A& CHYI 1,000 1,500 2500
O&z¥ JIZS did
1,000,000 %14 1,000
SHs 2 - 22t XEHE At 200,000 200,000
401 AlEHIYL 2 THYI 200,000 200,000
01 Al&HI 200,000 200,000
Osgs JIZ2 - 2ots A4 2 M
200,000,000 *14] 200,000
THAEZS |2 3,030,000 2,910,000 120,000
201 Ler2 | 2,305,000 2,075,000 230,000
01 At2t2lt] 5,000 5,000 0




A= PR
H2: XoALL

A oIE X2

ctels CIXQI = 22 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
Otz - 2t et =52
25,0003 #2004 2 5,000
02 S3=gHl 2,300,000 2,070,000 230,000
OoJlzs &= 1,200,000,000& 14! 1,200,000
O=ots &IIg 1,000,000, 000& * 14! 1,000,000
OZaxd Mz 100,000,000 14 100,000
206 TH=HI 20,000 25,000 25,000
01 THZHI 20,000 25,000 25,000
OXZAEE B8 7L
20,000,000 14! 20,000
401 AlEHIYL S THYI 705,000 810,000 105,000
01 Al&ZHI 700,000 800,000 100,000
OE2XY - ZZAXTAE RXAE L A
700,000,000 x 14! 700,000
03 A& CHYI 5,000 10,000 5,000
OE2XY - ZJ2AXTAE RAES L KA
5,000,000& 14 5,000
SSTH 2ot - JAXE JIlg XE 200,000 200,000 0
307 2I2t01 200,000 200,000
02 2IZHBYAIHE A 200,000 200,000
Oss=% 2ots, 228 &g K&
500,000 *2007H 2 %23 *100% 200,000
SRS ZHAIE LAY 100,000 100,000 0
401 AlZBIL S THYI 100,000 100,000
01 Al£ZHI 100,000 100,000
ORYXY ZHAL A
100,000,000 14 100,000
II2E HiLUXIE838 At 200,000 200,000
401 AlEBIYL S THYI 200,000 200,000
01 Al&HI 200,000 200,000
OJIZ28 HUXIEE3 ALY
1,000,000 *200H 200,000
Ot d2AxY e & A 151,000 151,000
401 AlEHIZL 20 151,000 151,000
01 AlZHI 150,000 150,000
O0f2t B2xH d& & e
150,000,000 14 150,000
03 A2 THYI 1,000 1,000 0
OO0f2t 22 ME 2 e
1,000,000 %14 1,000
C2RY MINEE 58 B 100,000 100,000
401 AlEHIYL S THYI 100,000 100,000
01 Al&HI 100,000 100,000




A= JHEE= A ¢ ol X
M ZYAL2
el CIeIxg 2l EER=E)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o =e
OX=E2 &8 B3 At
100,000,000 * 14! 100,000
CIXIQI =S AMH=E 292 2,400 1,800 600
202 o4t 2,400 1,800 600
01 2ol 2,400 1,800 600
OCIRRI ZHAIY =&Y
30,0003 *4H*203] 2,400
L= HE)| ¥ =ME ZHI A 50,000 50,000 0
401 AIEHIL20HY| 50,000 50,000
01 Al&HI 50,000 50,000
OL= &gl & ZHEH ZUlALY
50,000,000 14! 50,000
Hdes Z&XY XA 200,000 0 200,000
< 100,000
Al 100,000
401 AIEHIZL 28I 200,000 0 200,000
< 100,000
Al 100,000
01 Al&HI 200,000 0 200,000
Odes 3229y &X
200,000,000& » 14! 200,000
= 100,000
Al 100,000
SHAE2AAYI(OIH XD 27,904 27,984 A80
=&l 27,904 27,984 A80
J123&H| 27,904 27,984 A80
201 2| 19,104 19,184 A80
01 ArR22ltl 19,104 19,184 A80
OCHIANRES 7L 600,000& =123 7,200
OAIRI10] A2HIE 500,0002 * 128 6,000
Otl2H=z 18,0002 «45 128 864
OF=D| gtz 60,0002 122 720
O=4a| 9,000& x 12 +40 4,320
202 04d 5,200 5,200
01 =LH0iHI 5,200 5,200
OJ|2g2=¢ 0t
40,0002 10K * 133 5,200
203 R =& 3,600 3,600
M FA2LHRFAHI 3,600 3,600
ORN2IHRFA 300,0002 123 3,600




Al A

=H o
o= ZHEE= SAME
M HA - ME} 2SLE =4
Gl METE 4 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Ar It 16,588,575 17,344,214 NT755,639
= 4,868,592
z 291,000
CH 500,000
[ 3,147,415
Al 7,781,568
FE - dH 23E =4 16,440,795 17,198,114 NT757,319
= 4,832,592
= 291,000
CH 500,000
< 3,131,215
Al 7,685,988
S & 1,862,827 2,954,084 A1,091,257
= 300,388
as 291,000
< 748,582
Al 522,857
JNg &4 75,939 133,764 A57,825
= 29,979
< 10,341
Al 35,619
402 RIZERHZ01H 75,939 133,764 A57,825
= 29,979
< 10,341
Al 35,619
03 2IZ+RAETAIS I 75,939 133,764 57,825
OZME =dA 64,449,000 » 14! 64,449
= 29,979
< 10,341
Al 24,129
OZME TEAL(AHIFI
11,490,000 *14] 11,490
A2TIoHK =728 289,154 807,949 ~518,79%5
= 139,154
= 75,000
Al 75,000
402 RIZERHE01H 289,154 777,949 N488,7%5
= 139,154
= 75,000
Al 75,000
03 2IZ+RAETAIS I 289, 154 777,949 N488,795
OLr2 UK S2EE ALY
289,154,000 x 14 289, 154




A= JHEE= A 0 A
A HE . ME 2AEAE XM
Gl METE 4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
= 139, 154
= 75,000
Al 75,000
2L =4 89,962 104,512 A 14,550
= 41,769
& 14,458
Al 33,735
402 QI2ERHE01 & 89,962 104,512 A 14,550
= 41,769
& 14,458
Al 33,735
03 I+ AL I 89,962 104,512 A 14,550
O=9xg At 89,962,000 & * 14! 89,962
= 41,769
& 14,458
Al 33,735
A AIE 415,200 973,600 558,400
s 291,000
& 62,100
Al 62,100
401 AIEHIZL 28I 415,200 973,600 AB58,400
s 291,000
T 62,100
Al 62,100
01 Al&HI 405,200 950,000 A544,800
O E 405,200,000& x 14! 405,200
= 284,000
= 60,600
Al 60,600
02 eyl 10,000 23,600 213,600
O E 10,000,000 & * 14! 10,000
= 7,000
= 1,500
Al 1,500
AT AL (MEALY) 708,261 748,094 239,833
& 559,526
Al 148,735
101 eI t| 49,695 48,485 1,210
& 39,259
Al 10,436
M JIZtHI2E2 S E 49,695 48,485 1,210
oA 16,565,000& *3H 49,695
= 39,259




o= ZHEE= SAME
M HA - ME} 2SLE =4
Gl METE 4 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
Al 10,436
201 ¢Bt2] 15,500 15,500 0
& 12,245
Al 3,255
01 At22telt] 12,500 12,500 0
Ogael g & 2= ZHISX
10,000,000 » 14 10,000
< 7,900
Al 2,100
OoYEEs ARH 2E72Y
2,500,000 14! 2,500
< 1,975
Al 525
2 S5=2g4l 3,000 3,000 0
Ogz2tel ItetR=Hl
3,000,000 *14! 3,000
< 2,370
Al 630
401 AlEHIYL S THYI 643,066 682,109 139,043
< 508,022
Al 135,044
01 Al&ZHI 627,066 666,109 A39,043
OYEZAE(FENE)
398,000,000 x14] 398,000
[ 314,420
Al 83,580
OYEAIE (=) 203,500,000 * 14 203,500
< 160,765
Al 42,735
OUAIE (AR ENA)
25,566,000 * 14 25,566
(= 20,197
Al 5,369
02 2eld| 16,000 16,000 0
OYEAE(FERNE)
10,000,000& * 14 10,000
< 7,900
Al 2,100
O A= (E=) 6,000,000& 14! 6,000
& 4,740
Al 1,260
oI =8 & 2 98,700 98,900 2200
201 er23| 3,500 3,000 500
03 A2 SHI 3,500 3,000 500
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=: dNeE= A AL
M HA - ME} 2SLE =4
Gl METE 4 EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
[ 928
Al 2,168
201 er23| 850 835 15
= 425
& 127
Al 298
01 AtR2t2lt] 850 835 15
OSM=+=& dilXl &2t
850,000& 14 850
= 425
< 127
Al 298
401 Al&BIL STy 5,342 12,150 26,808
= 2,671
< 801
Al 1,870
01 AlZHI 5,342 12,150 26,808
OS2 HZ2el 5,342,000 *14] 5,342
= 2,671
< 801
Al 1,870
AHETREY 293 5,600 5,600
202 Ot 4,000 4,000
01 =LH0iL 4,000 4,000
O AEE g2
20,0003 x4 #5035 4,000
203 gR=8| 1,600 1,600
03 A= H R =2 1,600 1,600
OLHHAIM FR= 1,600,000 14! 1,600
ety SHaat 5,999 20,000 214,001
= 3,000
< 900
Al 2,09
301 LEIENEZ 5,99 20,000 214,001
= 3,000
[ 900
Al 2,09
14 IIEt2 83 5,999 20,000 214,001
Ozled Lt 5,999,000 *14] 5,999
= 3,000
[ 900
Al 2,09
LREAILS S 155,340 0 185,340




FENEEE
D ET . ME

i
DB 2 E

0

i

r=
o

it

2-

x
i
]

2. 94 - B O (3) - ARAY - BYS A TimE=

= 77,670
T 23,301
Al 54,369

402 2I2+Xt=0| 155,340 0 155,340
= 77,670
& 23,301
Al 54,369

02 QIZIXEAIE EE(OIMTHE) 155,340 0 155,340
OLZAIA 258,900, 000& *60% 155,340
= 77,670
& 23,301
Al 54,369

A MEY - 2 ED IS SA 718,108 617,393 100,715
= 261,991
& 79,818
Al 376,299

A THOH Y Ktel ED(ASIHH S RHIE) (ZA) 75,893 74,802 1,091
= 37,947
= 11,384
Al 26,562

101 Q14| 75,893 74,802 1,091
= 37,947
T 11,334
Al 26,562

oM J12tH=22 75,893 74,802 1,091

(On=1=00| &

25,297 6663 x3% 75,893
= 37,947
T 11,334
Al 26,562

ML Rl EI(AMSHH S =EHS) (KH2) 2,111 1,980 131
= 1,056
T 317
Al 738

206 M=z Bl 2,111 1,980 131
= 1,056
& 317
Al 738

01 =8l 2,111 1,980 131

[@FS==4 =] &t

2,111,000 14 2,111
= 1,056
& 317




A2 AREA= SN AR
MR HE - ME YSNY X8
ol AHEHME] - B EDIs S8 EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
| Al 738
AEHHHSLA 362,3%4 317,320 45,074
= 199, 168
& 48,971
Al 114,255
201 Ler2 | 19,000 26,714 AT, 714
= 10,442
& 2,567
Al 5,991
01 Ar2eltl 16,000 23,054 AT,064
Ot g =2 16,000,000 & 14! 16,000
= 8,793
& 2,162
Al 5,045
02 E324Hl 3,000 3,660 A660
Ot gl s 2Al 3,000,000 *14 3,000
= 1,649
T 405
Al 946
202 o4t 7,600 8,469 AB69
= 4177
T 1,027
Al 2,3%6
01 =WHO4bI 7,600 8,469 A869
Odtel g =2 20,0003 *5H 763 7,600
= 4177
= 1,027
Al 2,3%6
401 AIEHIZL 28I 335,794 282,137 53,657
= 184,549
= 45,377
Al 105,868
01 Al&HI 319,794 265,137 54,657
OLre i SR 136,438,000 * 14 136,438
= 84,077
= 15,712
Al 36,649
Odiehnsetase SLA
183,356,000 14 183,356
= 91,678
& 27,503
Al 64,175
02 2eldl 15,000 15,000 0




CdNed= A A
L EF - M 250y X4
D EYE - 2F)Is A (SH9 H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
Ottd gl S hl 15,000,000 * 14| 15,000
= 8,244
== 2,021
Al 4,729
03 Al 20HHI 1,000 2,000 21,000
OdteldaiE 2 1,000,000 14| 1,000
= 550
< 135
Al 315
2S4+3H| 40,000 356,000 5,000
= 12,000
Al 28,000
401 Al HIZ S 0HbI 40,000 35,000 5,000
= 12,000
Al 28,000
01 AlZH| 40,000 356,000 5,000
O3+ FHl 40,000,000 *14] 40,000
s 12,000
Al 28,000
CAIFE REAURY B& 154,570 152,791 1,779
101 @124H| 81,570 77,791 3,779
M ORINZZ2NSE S 81,570 77,791 3,779
OLARE HIH 251,041 3 «3F ~40! 30,125
O&gds 96,8002 *32H 150 43,560
OLNESMNESEE RS
73,685,000 2. 7% 1,990
O=pHdEss Y=
73,685,000 *8% 5,89
201 er23| 2,000 2,000
01 At2teltl 2,000 2,000
OLARE MIAH U & 8 FY
2,000,000& %14 2,000
401 Al HIZ S OHbI 71,000 73,000 A2,000
01 AlZ2H| 70,000 70,000 0
O AIF=E RALURE 2EAE
70,000,000& *14] 70,000
03 Al 20HHI 1,000 3,000 /2,000
OEAIF8 REALIRE ESA
1,000,000 14| 1,000
SHEUEISY 233 5,500 5,500
201 fer23y| 2,000 2,000
01 AtR2t2lHI 2,000 2,000
OFgsr+2 2,000,000 *14] 2,000
202 04| 3,500 3,500 0




= dNEd= SA g
M HA - ME} 2SLE =4
el MAFME - 8F0Is B8 EER=E)
Al = % o|(5 = dEE =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
01 A 3,500 3,500 0
OLtE Ml - 8301s B8 PR =8
20,0002 x5H 353 3,500
NPNE =g~ Jull 30,000 30,000 0
207 AR 30,000 30,000 0
02 MAHHEH] 30,000 0 30,000
OdHIzE EHl 30,000,000 *14] 30,000
s 2H0ISHE =4 28 47,640 0 47,640
= 23,820
< 7,146
Al 16,674
101 1A 47,640 0 47,640
= 23,820
< 7,146
Al 16,674
M IRIMZZ2ISE 47,640 0 47,640
OlISIs EoE S 23,820,000& 2 47,640
= 23,820
< 7,146
Al 16,674
s AE2e DS 28 7,546,459 8,798,381 N1,251,922
= 2,134,027
CH 500,000
< 1,173,586
Al 3,738,846
StETHOHE Rt EDI(A=S X 20X SHCH) 1,908,278 1,876,920 31,358
= 763,322
< 343,518
Al 801,438
101 1A 1,837,357 1,807,920 29,437
= 734,950
== 330,751
Al 771,656
M4 AN =22 RS2+ 1,837,357 1,807,920 29,437
OUESHZHL NS ZESE XLE)
13,752,4832 x 120 1,650,298
= 660,126
< 297,078
Al 693,004
OM=dE0SdN f8=
1,158,858 x120 139,059
= 55,624
< 25,033
Al 58,402
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o= ZHEE= SAME
M HA - ME} 2SLE =4
Rl ME-RXLAE2CDIS HE EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
Al 840
01 AtR2t2l] 2,000 2,000 0
O228=7 =Y & ?I&= 2,000
o3s=57 =AM
5,000& *4E+607H 1,200
= 480
< 216
Al 504
SAHAEHF 2R IR =E
100, 000& 4 & »23] 800
= 320
< 144
Al 336
AT (H ) 213,053 95,142 117,911
= 82,560
< 37,152
Al 93,341
201 B2l 73,900 80,489 26,589
= 29,560
< 13,302
Al 31,038
01 AtR2t2l] 56,700 63,289 26,589
Odt=0Y, st SAHI
6,000 %2,200H 13,200
= 5,280
< 2,376
Al 5,544
ORI R SHAH 390,000 = 100CH 39,000
= 15,600
< 7,020
Al 16,380
OLEAZAERAH (LX)
4,500,000 14 4,500
= 1,800
< 810
Al 1,890
2 S22l 17,200 17,200 0
ORAZAIDIHHFXIE=)
2,000,000 +5CH 10,000
= 4,000
< 1,800
Al 4,200
OUEAEMERAN(FR)
1,800&*4,0002| & 7,200
= 2,880




2-

x
i
]

Ofl &F2H

MEE
Ofl &k2h

H

1,296
3,024

202 04|

hoH

=

7,500
3,000
1,350
3,150

7,500

25,0002 300!

Mo

7,500
7,500
3,000
1,350
3,150

7,500

6,653

6,653

=
08!

b AlHIRE=

6,653,000 <14

6,653

6,653

6,653

401 AIEHIZ S0

o

=

121,000
48,400
21,780
50,820

121,000

121,000,000 * 14!

o

=

121,000

121,000
48,400
21,780
50,820

121,000

>~

:
i

405 Kpat

[SHl

hoH

=

4,000
1,600

720
1,680

8,000

24,000

800, 0002 *5CH

mhoH

=

4,000
4,000
1,600

720
1,680

8,000

A4,000

hoH

=

53,150
21,260

9,567
22,323

98,150

245,000

Mo

40,150
16,060

7,227
16,863

40,150

01 A2t

7,000

7,000




a=: dHed= FA A
N FE - 4y 2S48 24
el A= Ag2ACIs Bt (Gt H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
OLt=LSHAE RN
7,000,000 14| 7,000
= 2,800
5 1,260
Al 2,940
2 s==3tl 33,150 40,150 AT,000
Ott=4E2MAILE
130,000 *255CH+ 12 33,150
= 13,260
< 5,967
Al 13,923
405 XHak S| 13,000 58,000 45,000
= 5,200
< 2,340
Al 5,460
01 A= FHSHI 13,000 58,000 45,000
ORdsMEHI (M=)
3,000,0002!*1CH 3,000
= 1,200
< 540
Al 1,260
ORESUEBI(SHDIXI=)
10,000,000 *1CH 10,000
= 4,000
< 1,800
Al 4,200
S=0L X2 847,088 1,461,707 614,619
101 el 543,138 1,156,407 613,269
M4 IIH =22 RS2+ 543,138 1,156,407 613,269
OtERSZTAIY Q12
90,4002 85 *60& 461,040
OL-4=1= 461,040,000 %11. 3% 52,098
O=zgs 774l A=
30,000,000+ 14| 30,000
201 Ler2aY| 231,150 235,500 A4,350
01 Al2telsl 158,350 157,300 1,050
Odat=0y A& 10,0002 *2,5000H 25,000
Ott=01g Rt 5,000 +1,5000H 7,500
Ott=0g 2X 7,000 *1,0007H 7,000
Oat=LXICH2 AL M
6,000 2502 1,500
Ott=01g 82= M
5,000,000 14} 5,000
Odt=dlst A EH 150,0002 +50SET 7,500
Odt=dsts 130,000« 100 13,000
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o= ZHEE= SAME
M HA - ME} 2SLE =4
Rl ME-RXLAE2CDIS HE EER=E)
A = X ol(& [=] E-Ill—jE =
A2 2A - B 9(3) - HIRAY - BES Ol & S HlmE2t
Ot RSI12 LA (SUS)
10,000,000& * 14 10,000
FHAX MEZAIE HHXI 896,441 1,126,407 N229,966
< 268,932
Al 627,509
101 QIAHI 8%, 441 1,126,407 £229,966
< 268,932
Al 627,509
M IRIMZZ2ES 2 896,441 1,126,407 N229,966
Ott=2F X ZAIR B
896,441,000& x 14 896,441
< 268,932
Al 627,509
Ar=0E &0l St 336,313 360,360 N24,047
308 AHAIEMSOIE 336,313 360,360 N24,047
07 AXEHFE S 336,313 360,360 N24,047
OLH=EEI] Lt AMBIRES
336,313,000 *14] 336,313
AEEH sd=0gEsS K2 29,750 29,750 0
[ 8,925
Al 20,825
301 EtE NS 29,750 29,750 0
< 8,925
Al 20,825
14 JIE2 43 29,750 29,750 0
OXrdctH d=0ges K
29,750,000 x 14 29,750
< 8,925
Al 20,825
OI8d d=0gas X 93,000 93,000 0
[ 27,900
Al 65,100
301 LEIE NS 93,000 93,000 0
< 27,900
Al 65,100
14 IIEt2 83 93,000 93,000 0
O018d dr=0ges Xd
93,000,000 * 14 93,000
< 27,900
Al 65,100
g 2L &Y 2X2e 7,272 4,200 3,072
[ 2,181
Al 5,091
201 Ler23 | 7,272 4,200 3,072




dhetd= A A
HE . ME 22 XA
=YXl g 2eDls 2st EER=E)
SA - A S90(30) - HRAY - BAS of v e HIDE2
< 2,181
Al 5,091
2 222 7,272 4,200 3,072
Og4X ZULTZY K12
2,424,000 *3H 7,272
= 2,181
Al 5,001
WL IR ON| 334,660 437,900 103,240
201 fer=3| 2,500 2,500 0
01 AtR2tc|Hl 2,500 2,500 0
0S3=7 LUK
5,000 *x35+100H 1,500
ONH2Z2A sS4 1,000,000 *14] 1,000
401 AlEHIZ S 0HbI 332,160 435,400 A103,240
01 Al&H| 300,000 400,000 100,000
OLHE Mol RA =FSHAHAIS
150,000,000 *14] 150,000
Ot SsS=7AHY
150,000,000 * 14! 150,000
02 Zeltl 30,000 30,000 0
OME NS SS=S2AHY
30,000,000& » 14 30,000
03 AIZSTHYI 2,160 5,400 A3,240
OMRITILHET S2=TAI
60,0002 x3& * 12 2,160
HF2H AlHIRE=S 17,438 26,158 A8,720
308 AHXIHMSO0IA 17,438 26,158 A8,720
07 X2 EE2 17,438 26,158 A8,720
OHBRH AL
17,438,000 * 14| 17,438
At &R 1,500,000 750,000 750,000
= 1,050,000
< 315,000
Al 135,000
401 Al HIZL 01| 1,500,000 750,000 750,000
= 1,050,000
== 315,000
Al 135,000
01 Al&HI 1,458,000 729,000 729,000
OAtZ" EXI 243,000,0003 *6H 2 1,458,000
= 1,020,600
=S 306,180
Al 131,220
02 22/l 42,000 21,000 21,000




o= ZHEE= SAME
M HA - ME} 2SLE =4
Rl ME-RXLAE2CDIS HE EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
OArtd &Xl 7,000,000 *67H 2 42,000
= 29,400
& 8,820
Al 3,780
At ze|(E4) 27,980 42,000 A 14,020
= 19,586
& 5,876
Al 2,518
401 A& BIL S THYI 27,980 42,000 A 14,020
= 19,586
< 5,876
Al 2,518
01 Al&HI 27,980 42,000 A 14,020
OArgd =4 6,995,000 *4H 2 27,980
= 19,586
= 5,876
Al 2,518
HFREH B8 EIL AMEIRES 284 530 N246
308 XXM SOIA 284 530 N246
07 AXEH2LFE= 284 530 2246
OA=EN EBIEdEIt AlHIRE=
284,000 *14] 284
A e el2rE 12,745 21,120 28,375
= 8,922
(= 2,676
Al 1,147
401 AlZBIL LY 12,745 21,120 18,375
= 8,922
< 2,676
Al 1,147
01 Al&HI 12,745 21,120 28,375
OArZ e 228 12,745,000 * 14 12,745
= 8,922
< 2,676
Al 1,147
AEXIAFEALY 81,000 202,500 A 121,500
= 56,700
< 17,010
Al 7,290
401 AlEHIYL S THYI 81,000 202,500 A 121,500
= 56,700
< 17,010
Al 7,290




AR AREA SA  ARD
M HE . ME 2SN TN
Rl ME-RXLAE2CDIS HE EER=E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o g = ofl &b s2
01 Al&HI 77,000 194,500 A 117,500
OAEXIAFEE 77,000,000 x 14! 77,000
= 53,900
= 16,170
Al 6,930
02 2eldl 4,000 8,000 A4,000
OLEX] ALEL 4,000,000& 14! 4,000
= 2,800
= 840
Al 360
AIEH BN AT AHIRES2 1,710 1,059 651
308 AXIHHSOIA 1,710 1,059 651
07 XX SHH2t2E2 1,710 1,059 651
OME EIETI LIRSS
1,710,000 & 14! 1,710
AMEAIE 22EA AHIREE=S 323 554 A231
308 AXIHHMSOIA 323 554 A231
07 RIXISHXM2HRES 323 554 A231
OARZAIE QIR ABIRE2
323,000 * 14! 323
FAFEH THEE AT CH(AALEY A0 22{ X AEHXAL) 28,000 48,300 A20,300
= 14,000
< 4,200
Al 9,800
401 AlEHIZL 2 CHY] 28,000 48,300 A20,300
= 14,000
= 4,200
Al 9,800
01 Al&H| 28,000 48,300 A20,300
OAFALEN &M A XIS AEHZR AL
700,000 4000 A 28,000
= 14,000
& 4,200
Al 9,800
AtSEH Ao XA 32,670 54,202 N21,532
= 22,869
& 6,861
Al 2,940
401 A& HIZLECHH] 32,670 54,202 N21,632
= 22,869
& 6,861
Al 2,940
01 Al&H| 32,670 54,202 N21,532
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Al

123,200
61,600
61,600

23,200

H

Al

123,200
61,600
61,600

23,200

in

Al

123,200

123,200
61,600
61,600

23,200

CH

500,000
500,000

A800,000

CH

500,000
500,000

500,000

CH

500,000

500,000
500,000

500,000

]
H
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60,000

60,000
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60,000

60,000

0K
S
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60,000
60,000

60,000

200,000

200,000

200,000

200,000

200,000,000& *14]

200,000

200,000

200,000

o

50,000
35,000
10,500

4,500

50,000

H

50,000
35,000

dEE
Ofl &k2h
200,000
0
0
100,000
100,000
100,000
1,300,000
0
0
0
0
0
0

50,000




dhetd= A A
HE . ME 22 XA
=YXl g 2eDls 2st EER=E)
SA - A S90(30) - HRAY - BAS of v e HIDE2
< 10,500
Al 4,500
01 Al&H| 50,000 0 50,000
OAtZE ot &I
50,000,000 *1IH 2 50,000
= 35,000
< 10,500
Al 4,500
2 QA 50,000 0 50,000
= 35,000
[ 10,500
Al 4,500
401 Al HIZL 201 50,000 0 50,000
= 35,000
== 10,500
Al 4,500
01 Al&HI 50,000 0 50,000
OAr e erM XIEt 50,000,000& * 14! 50,000
= 35,000
= 10,500
Al 4,500
S KEAE SAHEE2 245 60,000 0 60,000
[ 30,000
Al 30,000
308 XXM SOIA 60,000 0 60,000
= 30,000
Al 30,000
18 SIS0t oA AS A 60,000 0 60,000
O=AlgdE22 243 2278 29
60,000,000 * 14 60,000
= 30,000
Al 30,000
A5 2ePE &#F 6,302,457 4,821,586 1,480,871
= 2,129,105
= 1,128,070
Al 3,045,282
FAMSIORI(HE) 3,871,442 3,992,743 121,301
= 1,935,721
= 580,716
Al 1,355,005
202 04t 6,400 4,900 1,500
= 3,200
S 960
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g 3 254 24
Rl MEAS 23D EF EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Al 2,240
01 =LH0d 6,400 4,900 1,500
OFMzI)| g2 =&
20,0002 x8Z *403] 6,400
= 3,200
< 960
Al 2,240
402 RIZEAHZ01H 3,865,042 3,985,843 120,801
= 1,932,521
== 579,75
Al 1,352,765
03 2IZHAETAIZ I 3,865,042 3,985,843 120,801
OFM=IHI| A
3,865,042,000& *14] 3,865,042
= 1,932,521
== 579,756
Al 1,352,765
SSAIIRI| (=M Tte]) 43,620 0 43,620
< 21,810
Al 21,810
101 IAHI 40,620 0 40,620
[ 20,310
Al 20,310
M IRIHMZZ2S 2 40,620 0 40,620
O334teIt30| 13,540,000 »3H 40,620
< 20,310
Al 20,310
201 fer23| 3,000 0 3,000
< 1,500
Al 1,500
01 AtR2t2l] 2,000 0 2,000
O33&EIHI] 8l & 423 7
2,000,000 %14 2,000
[ 1,000
Al 1,000
2 52434l 1,000 0 1,000
OuI=J] ZHl 2 |FHl
1,000,0002 %14 1,000
= 500
Al 500
FFYMS0IESH 2,000 2,000 0
201 ¢Bt2 ] 2,000 2,000
01 At22t2l] 2,000 2,000
oguts 22 X 2,000,000 14! 2,000
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A2 AREA= SN AR
HI: HE . ME 2SR X4
Rl MEAS 23D EF EER=E)
Ax - BA - 3 - SAAEA) - HRAY - BES Ofl &4 OE:I(%% Husz
| Al 31,186
Rl P A Rl e 35,376 25,406 9,970
= 14,150
= 10,613
Al 10,613
402 2I2FX=01 & 35,376 25,406 9,970
= 14,150
= 10,613
Al 10,613
02 QI X2 AL EE(0IHTHE) 35,376 25,406 9,970
OIS MAD BT A (A M)
70,751,000& *50% 35,376
= 14,150
= 10,613
Al 10,613
sSttestsd 46,548 57,087 A 10,539
101 @124H| 21,548 22,087 539
04 JIZtN22 XS 2+ 21,548 22,087 Ab39
O=Z(842) I+ & FHl
96,8002 x2EH =100 19,360
OL=¥=3 19,360,0002 11.3% 2,188
201 er23| 5,000 5,000
01 At2ZHeld| 4,000 4,000
O£2(SAZ) CHHE RIZ L 24
4,000,000 *14] 4,000
02 S3=gHl 1,000 1,000 0
O=2(si2) 1,000,0002 %14 1,000
401 AIEHIZ SR OHYI 20,000 30,000 10,000
01 Al&HI 20,000 30,000 210,000
O=Z(S42) JHl, BE=Ate
20,000,000 *14{ 20,000
XoiEel TH(MEALY) 653,847 0 653,847
= 425,000
Al 228,847
401 AlZHIZ S 0HbI 653,847 0 653,847
= 425,000
Al 228,847
01 A28l 653,847 0 653,847
OXAEAY T (AMEZAIY)
653,847,000 x14] 653,847
< 425,000
Al 228,847
378 2l 33,000 33,000 0
201 er23| 10,000 10,000
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A= JHEE= A A
M FHE - ME 2ENME =4
Rl MEAS 23D EF EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Oongddel SXd*Hd XI&
1,200,000 *14 1,200
= 480
Al 720
2ol AAHEX A=K 3,024 4,680 A1,656
= 907
Al 2,117
201 23| 3,024 4,680 A 1,656
= 907
Al 2,117
01 AFS2t2ltl 3,024 4,680 A1,656
Od=ggel dHFBX =X
3,024,000 14 3,024
= 907
Al 2,117
el XFA 9,800 9,800 0
= 5,880
Al 3,920
301 B2 F 9,800 9,800 0
= 5,880
Al 3,920
14 J|Et2 4= 9,800 9,800 0
Oggol=g XI& 9,800,000 14! 9,800
= 5,880
Al 3,920
SEAMSEUE=MY JIBAIE ZEAMS 1,200,000 1,200,000
401 AIEHIZ 28I 1,200,000 1,200,000
01 Al&Hl 1,200,000 1,200,000
O=gtEdE=MH MYEZ IHESA
1,200,000,000& * 14 1,200,000
2l 2 S22 0ol EXI(FRIE00IA) 20,000 0 20,000
401 AIEHIZL 28I 20,000 20,000
01 AIEHI 20,000 20,000
Ol 2 S42 oo EXI(=2E
il &t) 20,000,000& *14! 20,000
=IHRI|RH E AL 25,800 0 25,800
= 13,150
& 3,7%
Al 8,855
101 Q124H| 25,300 0 25,300
= 12,900
= 3,720
Al 8,680
04 JIRHHIZ2Z2REE S 25,300 0 25,300




AR AREA A AR
Hu: E . ME ASME EA
Rl MEAS 23D EF EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
OZIPRIIRESTEr 21|
24,800,000& *1H 24,800
= 12,400
[ 3,720
Al 8,680
O=/HVIINE=EE WSt
500,000« 1 500
= 500
201 er23 | 500 500
= 250
S 75
Al 175
01 AtR2t2lt] 500 500
ONBEAE Bl L ADE 3
500,000 *14] 500
= 250
== 75
Al 175
ZIHIIHES 122,682 122,682
= 62,341
== 18,102
Al 42,239
101 e124d| 101,200 101,200
= 51,600
= 14,880
Al 34,720
04 JIZtN2 2N S 2+ 101,200 101,200
ZIHRIIHES 2]
24,800,000 4 99,200
= 49,600
= 14,880
Al 34,720
O FIINES W=l
500,000 ~4H 2,000
= 2,000
201 fer=3| 21,482 21,482
= 10,741
= 3,222
Al 7,519
01 AtR2t2lHI 10,741 10,741
O=IHIIHES &bl ¥ 423 78
10,741,000 * 14! 10,741
= 5,370
= 1,611
Al 3,760
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01 AlZHI 750,000 289,590 460,410
OSHANEFNE+ 500,000
oZd |AAMNG (LEIYANE, =58
2 He & BAE)
180,000,000& 14! 180,000
oz 28I & HAANE EX
15,000,000 * 14! 15,000
oZd Holls gHl & LIRFA
20,000,000 14! 20,000
o0E0l 3Y ZeHtte M A=
40,000,000 14! 40,000
o==X | 40,000,000 x14] 40,000
o?2IZ0R AEE B
70,000,000 x 14 70,000
cwg60el0|8H Fol=E XSS
15,000,000 * 14 15,000
oxZdAld B WA
60,000,000 *14] 60,000
S AIZE A L MM B
30,000, 000& » 14 30,000
oL AIEZE == gl
30,000,000 x 14 30,000
OB 0L R0 HUIAN
250,000,000 *14] 250,000
03 Al 20HHI 2,000 3,000 1,000
OSEAE |2+ 2,000,000 14! 2,000
CASE getdae 1,463,186 1,471,902 N8,716
101 QI24H| 980,086 1,035,802 NB5,716
M IRMZZ2HS e 980,086 1,035,802 N55,716
OZAIZH LAIME 22XHIIA) 398,116
=JllEg 1472002 x10& +200! 294,400
oFFE 147,200 102 »33 48,576
SRLPNES=] 147,200 x10Z 10 14,720
SNt 357,696,000 *11. 3% 40,420
OZAIBY AN 22X () 575,970
=Jl2s 96,8003 =22 *200 425,920
oFFd 96,8003 »22H *33 70,277
SRUPNES=] 96,800 22+ 10 21,2%
S4HEE 517,493,000 *11.3% 58,477
o2&t et FH| 7Y
6,000,000 14! 6,000
201 LEeH2 | 391,100 349,100 42,000
01 At22t2lt] 102,900 100,900 2,000
OAEE 278 =4
10,000,000& » 14 10,000
OFAEAY| 3,000,000 14! 3,000




D ZHEE= A =X

ol EAIEE 29 - 2l (Gt H2)
Al = X o|(5 = dMEE =
A2 2A - B 9(3) - HIRAY - BES Ol & S HlmE2t
OO0IZI0I=0IAIE etM2te| WFYI
100,000 %22 200
OO0IZI0I=0IAIE EIIAEBAL =2
400,000 *287H A 11,200
O==Ald &IIotA 22| e =&
600,000 12 7,200
Ozl tl gX=
3,000,000 14 3,000
OZAAS 22X SHEUIX RS
10,000,000 14} 10,000
OS2ANE Folld2 aA =2
8,000,000+ 14| 8,000
Ostaa oty RA2+ES
10,000,000 * 14| 10,000
OSAISE 23l Mol S5 7
20,000,000 14} 20,000
OZAISE s+ & 2+ oY E2= M%
450,000 %340 2 15,300
O AsEAA &2 +=¢
100,000 * 10 +52] 5,000
2 ss=23Hl 288,200 248,200 40,000
O552= « MAl 277,800
oy otk 2= 5,000,000 122 60,000
oINS 23 17,000,000« 12& 204,000
oS 23 500,000« 122 6,000
o2 Helt 500,000 *10JH £ 5,000
oO{2l0l SOIAIE AtDIbHA MBS
100,000 x287H 2 2,800
OS2 Ml #=cltl
2,000,000 14} 2,000
Oxtg & AIEEHl |74
700,000+ 122 8,400
206 MHZHI 70,000 80,000 A10,000
01 M=ZHl 70,000 80,000 10,000
O33ae| 23+ 7Y
20,000,000+ 14| 20,000
O=d&el Mg 7Y 50,000
oZ¥ 322l ME(RI HIZ, AHS)
30,000,000 14} 30,000
oZRANEE BT 7Y
20,000,000+ 14| 20,000
306 tia=s 7,000 7,000
01 i =S 7,000 7,000
Ozdlitia=2 7,000,000 14} 7,000
308 ARIHMSOIE 15,000 15,000
13 SIS0t X A=A 15,000 15,000




A= JHEE= £AM 0 sX
S HEE TAIZE
=Rl TAISE X - 2 EER=E)
AR RA - ZH - E9I(E) - HRMY - BYS Ol &t e B2
OZAS& 2423 51
15,000,000 * 14! 15,000
SAEE xd - 22 2EE| 8,000 8,000
202 04l 8,000 8,000
01 =04 bl 8,000 8,000
OZAIB& =4 FAHYI
20,0002 4% 1002 8,000
SAl AEZE EHI 10,000 10,000 0
401 AIEHIZL 28I 10,000 10,000
01 AIZHI 10,000 10,000
OUEIA AEE B E =34
10,000,000 * 14! 10,000
SASE =4 25,000 23,200 1,800
201 ZEet2& ] 25,000 23,200 1,800
01 ArR2eltl 25,000 23,200 1,800
OEXAMEZ 25,000,000& * 14! 25,000
233 ¢ =X SXNA(SHS) 10,000 10,000 0
401 AlEHIZ 20| 10,000 10,000
01 Al&HI 10,000 10,000
OAl&HI 10,000
oaZd B & S
5,000,000 14! 5,000
o=XU =X 5,000,000 14! 5,000
V0TS SATEAHE(HE) 200,000 0 200,000
401 AIEHIZ 2018 200,000 200,000
01 AlEHI 200,000 200,000
OFIINIE SJRTLEHANHE BHE 29
200,000,000 14! 200,000
SHOOIIR S SZEIMS(F2IE0 04 110,000 0 110,000
401 AIEHIZL 28I 110,000 110,000
01 AlIEHI 110,000 110,000
OSEO00IIIE S& SZME ALY
110,000,000& * 14! 110,000
3B= 0|3 & XA 80,000 0 80,000
= 40,000
Al 40,000
401 Al&HIZ 20| 80,000 0 80,000
= 40,000
Al 40,000
01 Al&HI 80,000 0 80,000
OBz K052 H&EA XA
80,000,000& *14! 80,000
= 40,000
Al 40,000




A =X

SR st TAISE
=Rl TAISE X - 2 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
SHZ HH(ZYxSEW 212 =2 FHIAIY) 500,000 0 500,000
< 100,000
Al 400,000
401 AlEBIYL S THYI 500,000 0 500,000
< 100,000
Al 400,000
01 Al&HI 500,000 0 500,000
Osgdzxs=stu 2 =2 4|
200,000,000 *14] 200,000
& 100,000
Al 100,000
Os2xssn 212 =2 FHI(AIHIFI
300,000,000 x 14 300,000
EH1S SI82 AL 200,000 0 200,000
< 60,000
Al 140,000
401 AlEHIYL S THYI 200,000 0 200,000
< 60,000
Al 140,000
01 AlEZHI 200,000 0 200,000
OZg1s eJISd A
200,000,000 x14] 200,000
[ 60,000
Al 140,000
ASE2 ZHIAHY 419,926 402,439 17,487
2atHel2E 243t 409,926 402,439 7,487
101 QI24H| 186,526 197,231 10,705
04 JIRHNZ2Z2XSE+ 186,526 197,231 A10,705
OZ3tHel LAIAIS Q14| 185,526
SZ== 96,8002 *6% 230 133,584
oFxFsd 96,8002 x6& 46! 26,717
SRLPNES=] 96,8002 «6H* 11 6,389
cAHEEE 166,690,000& *11. 3% 18,836
O22 Xt et EH 2
1,000,000 %14 1,000
201 Ler23 | 170,800 151,208 19,592
01 At2t2lt] 110,000 104,000 6,000
Ostad 29, el B8l 223 7Y
15,000,000& » 14 15,000
O=Fet g1t Ar2sXI=(23aHel)
90,000,000 *14] 90,000
OZaHei2g g, 82 M
5,000,000& 14! 5,000
2 352484l 60,800 47,208 13,592




D ZHEE=

A =X

D NEE2 A (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
OZatiel &= 4,000,000 128 48,000
OZ3tHel dotr==
800,000& * 122 9,600
OozExtg FAE=H|
2,000,000 %14 2,000
ozExte 7=l 100,000+ 122 1,200
206 THZHI 2,000 2,000
01 THZHI 2,000 2,000
O&ziel 28 Mabl
2,000,000 14! 2,000
401 AlEHIYL S THYI 50,600 52,000 21,400
01 Al&ZHI 50,000 50,000 0
O&zel KA+ A
50,000,000 »14] 50,000
03 Al 20HHI 600 2,000 21,400
OZzatiel 28 243AY
600,000 *14] 600
%};ima S F(SH) EHRA X (FLUHAO 10,000 0 10,000
i,
401 AlEHIYL S THYI 10,000 10,000
01 Al&HI 10,000 10,000
O&ziel 2dU=R 7l S8 8884 £X
A 10,000,000 » 14 10,000
ofiete =X= 33 =4 8,175,240 8,232,140 56,900
GOt =XI= 3335 ZEMS(ZE2X7) 30,000 2,671,140 22,641,140
201 er23| 30,000 0 30,000
01 At2teltl 30,000 0 30,000
O=%X e 30,000,000 14! 30,000
oot =XIE IS LAY (FE3XF) 7,185,500 4,999,400 2,186,100
201 er23y| 31,000 0 31,000
01 AtR2t2l] 31,000 0 31,000
O=71X RS 31,000,000 *14] 31,000
401 AlZBIL S THYI 7,154,500 4,999,400 2,155,100
01 AlZHI 7,147,000 4,999,400 2,147,600
OZZ3X 7 B&=X 2L (IXHE)
2,000,000,000& x14 2,000,000
Ottt =X15 S¥sh LA (ZE3XT)
24l 5,000,000,000& 14 5,000,000
OB E3X 7 AAARCIN HE s
FE= 147,000,000 *14] 147,000
03 Al 20HHI 7,500 0 7,500
OS2l At 7,500,000 14! 7,500
JH2,3K 7 eptegae 309,740 161,600 148,140
101 QI24H| 241,540 127,020 114,520
M IRMZZ2HS e 241,540 127,020 114,520




D ZHEE=

A =X

R YRS CAR
Chel: ofietH =XI= Z&3s &4 EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
O=saad 2| =Y 37,709
ST 96,8003 x2ZH 150 29,040
oFFrY 96,8002 x2&»20 3,872
oA\ Xt=g 96,8003 x2& x5 968
cAUEE = 33,880,000 *11.3% 3,829
Ogdxza2e| 2RY 203,831
S 96,8003 x7H*230 155,848
oFFrd 96,8002 x7 & *34 23,039
oA\ Xt=g 96,8007 +7 4,744
cAUEEE 183,629,600 *11% 20,200
201 er23 | 64,600 20,980 43,620
01 At2teltl 23,600 8,600 15,000
OS=stad 225 & HIYSE 78
200,000 #2042+ 123 4,800
Osg2el 425 7¢
5,000,000 * 14 5,000
OAEIAH Xl 3,000,000& *14] 3,000
OZE2, 3K+ 2o Mt L]
900,000 * 12 10,800
02 S3=gHl 41,000 12,380 28,620
Osssdd MIks
300,000 x20H 2=+ 123 7,200
Oz dotk 2=
300,000 x20H 2% 123 7,200
OZEUBEZL H)|IQZ
6,000,00024+14! 6,000
OATLUBEL M5I+E 23
15,000,000 * 14! 15,000
OZESH 22MRA HIIRS
50,000 * 122 600
OB XS AlE12F &Y 2| xtef Lt
]l 5,000,000& *14] 5,000
202 048l 3,600 3,600
01 2L A 3,600 3,600
OZESASANGE =0
75,0002 x4 122 3,600
AMZ2E~E=R oot =X EH L X2 =& ALY 300,000 300,000
401 Al HIZL S 0HYI 300,000 300,000
01 Al&H| 300,000 300,000
OAZ2&~=R ot M=k EH & X2
2T SA 300,000,000 x 14 300,000
s Sl 23SE A 2ESA 300,000 300,000
401 Al HIY S CHYI 300,000 300,000
01 A28l 300,000 300,000




2 AN B2 A =X

X XH - ZIHI-IO|- :/\l—lo_l

;F?_—ii ofiotdt =X= s&s =4 (Gt H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
OXE?s S+U 23 2 & SA
300,000,000 * 14| 300,000
4 ot SAANE RA B+ AL 50,000 0 50,000
401 AIEHIKL RO 50,000 0 50,000
01 AlZHI 50,000 0 50,000
OB X2, 3K+ 2o AA
50,000,000 14} 50,000
A 2LIHI(=AD) 35,080 33,880 1,200
(=34l 35,080 33,880 1,200
Jl23hl 35,080 33,880 1,200
201 LetE 3| 26,680 25,480 1,200
01 At2tell 26,680 25,480 1,200
OdFAFES Fetl
200,000« 12 2,400
Oar2 TA 7l 10,000& 20 200
Otlz=sg 20,0002 65+ 12 1,440
OJIE ==bI 200,000+ 122 2,400
QIR 228 U3
5,000,000 14} 5,000
Od=J| Xtz 60,0002 * 122 *20 & 1,440
Oo=g)] itz 250,000+ 122 3,000
OJ|2gsd=4tl
9,000 10 * 102+ 122 10,800
202 04t 4,800 4,800
01 2oL 4,800 4,800
OJl=g2=4 ol
100,000 * 12 *43] 4,800
208 BF =2l 3,600 3,600
M4 FAESSYFFAY 3,600 3,600
OFA2IERFA|
300,000+ 122 3,600
WLES (=) 2,500,000 7,000,000 4,500,000
WEHAHRIE 2,500,000 7,000,000 4,500,000
LHEHAHKIE 2,500,000 7,000,000 4,500,000
701 JIERI NS EES 2,500,000 7,000,000 4,500,000
01 JIEteIAEES 2,500,000 7,000,000 4,500,000
OII0IEEY TAHNEUXNSELSE
A HES 2,500,000,000& %14 2,500,000




